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UGC NET PAPER 2 DECEMBER 3, 2021 SHIFT 1 RUSSIAN QUESTION PAPER

Topic:- Russian_SET1_A

1)

OTMeThTe MPABHIbHEIL SKBHBAMECHT PyCccKoil HAHOMBI «HOMOXHTH 3yOBI HA TIONKY:

1)
@
3
@

To cut one’s expenditure
To relax

To feel very hungry
To prepare for a fight

[Question ID = 2079][Question Description = Q01_Russian_SHAAN_3DEC_S1_Shift1]
1. 1 [Optien ID = 8313]
2. 2 [Optien ID = 8314]
3. 3 [Optien ID = 8315]
4. 4 [Option ID = 8316]

Correct Answer :-
e 1 [Option ID = 8313]

BeraBeTe BMecTO TOUeK IIPABUIBHEI BAPUAHT;

- XApAKTepH3VeTCd TOYHBRIM H I'I[YGDKEII.I DOHHMAHHEM COJSPKAHHA BBICKA3BIBAHHHY, €I'0 MOTHEOR H
uE‘HEi"f, a TAICKe IIOOTeRCTA.

(1)
(2)
(3)
@

$parMeHTapHCE TOHHMAHHE
I'mobanbHOS MOHEMAHHE
HeTanmbHoe OHHMAHHE

K])HTH‘IECI{DE IIORHMAHHES

[Question ID = 2080][Question Description = Q02_Russian_SHAAN_3DEC_S1_Shift1]
1. 1 [Optien ID = 8317]
2. 2 [Option ID = 8318]
3. 3 [Optien ID = 8319]
4. 4 [Option ID = 8320]

Correct Answer :-
e 1 [Option ID = 8317]

Ha xakoMm ypoBHe IIPOHCXOINT CAEIVIOIIHH IIEPEBOX ¢ AHTIANCKOIO HA PYCCKHI A3BIK?

“First Night” — «IIpameepay

1
(2)
3)
(4

Ha YpoBHe Mopdem
Ha YPOBHE CIIOB
Ha YPOBHE CIIOBOCOYSTAHMA

Ea YpoBHE (oHEM

[Question ID = 2081][Question Description = Q03_Russian_SHAAN_3DEC_S1_Shift1]
1. 1 [Optien ID = 8321]
2. 2 [Optien ID = 8322]
3. 3 [Option ID = 8323]
4. 4 [Option ID = 8324]

Correct Answer ;-
e 1 [Option ID = 8321]

K xaxoil nepeBomdeckoi TpanchopMalMH OTHOCHTCA CISOYIOMMI IepeBol ¢ AHIVIKEICKOIO Ha
PYCCKMIA T3EBIK?

“Dinny waited for her 1 a corridor, which smelled of disinfectant.” — «/IuHuH oxH7aNa ee B KOpHAOpe,
OponaxnTes KapOomKoH »

(1)

Tedepamizaitg
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(2)
(3
(4)

1IepecTaHOBKA

Komnercanma
KoHkpeTH3anud

[Question ID = 2082][Question Description = Q04_Russian_SHAAN_3DEC_S1_Shift1]
. 1 [Optien ID = 8325]
. 2 [Optien ID = 8326]

1
2

3. 3 [Option ID = 8327

4. 4 [Option ID = 8328]

Correct Answer -
e 1 [Option ID = 8325]

¥ OTMeTETe OpaBHABLHBI OepeBo] AHIMHECKOrO mpeamoxenud “This 1s a bill accepted by ninety-five votes
to four.”:
1) IT0 3aXOHOIPOEKT, MPHHATEI ASBAHOCTO NATHIC FOJTOCAMH NPOTHB USTHIPEX.
(2) 270 3aXOHOIPOEKT, IPHAHATEL ¢ JSBFHOCTA IIATH TOJIOCAMH [IPOTHB YETHIPEX.
(3) 3T0 3aKOHONPOEKT, IIPHHATHIH ASBAHOCTA IATHIO TONOCAMH IIPOTHB YeTHIPEX.
CY OT0 3aKOHOIPOEKT, MPHHATHIH ¢ AeBAHOCTA OATHIO FOMOCAMH OPOTHB METHIPEX.

[Question ID = 2083][Question Description = Q05_Russian_SHAAN_3DEC_S1_Shift1]
1. 1 [Option ID = 8329]
2. 2 [Option ID = 8330]
3. 3 [Option ID = 8331]
4. 4 [Option ID = 8332]

Carrect Answer :-
& 1 [Option ID = 8329]

OTMeThTe IPABHIBHBIN HAHOMATHYSCKHHE SKBHBANCHT aHTIMACKOrO Bhlpakernus “to feel 1ll at ease” (“to be

8y
2
(3)
(D

out of sorts™):

He OCTaThed B JOITY
He CMBIKATh I7Ia3
He B CBOSH Tapenke

He YyBCTBOBATh oA c000H HOT

[Question ID = 2084][Question Description = Q06_Russian_SHAAN_3DEC_S1_Shift1]
1. 1 [Optien ID = 8333]
2. 2 [Optien ID = 8334]
3. 3 [Option ID = 8335]
4. 4 [Option ID = 8336]

Correct Answer ;-
e 1 [Option ID = 8333]

OTMeTETE ITepeBOIIeCKYIO 3aMeHY B CJIeIyIOMEeM HepeBole ¢ PYCCKOr0 HA AHTTHICKAN I3BIK:

«VOepH ero, npsBoNa, yObI0.» - “Take the devil out of here before I kull 1t

(1)
2
(3)
b

3aMeHa colo3HOH CBA3H DeccolosHOoH
3aMeHa COUHESHAA NIOTYAHeHASM
3amMeHa TMOTUHHeHHS COUHHeHHeM

3aMeEa CIIOKHOTO NIPEATTONCHHA [TPOCTHM

[Question ID = 2085][Question Description = Q07_Russian_SHAAN_3DEC_S1_Shift1]
1. 1 [Option ID = 8337]
2. 2 [Optien ID = 8338]
3. 3 [Option ID = 8339]
4. 4 [Option ID = 8340]
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Correct Answer ;-
e 1 [Option ID = 8337]

[Question ID = 2086][Question Description = Q08_Russian_SHAAN_3DEC_S51_Shift1]

Kaxoe A3 cJIeqyI0IMHAX CIOB AB/AETCA CYIIECTBATENBHBIM 00mero pona?

e))
2
(3
(4)

3aTIeBana
KODBILIA
cTapocTa

KEHTYPY

1. 1 [Option ID = 8341]
2. 2 [Option ID = 8342]
3, 3 [Option ID = 8343]
4. 4 [Option ID = 8344]

Carrect Answer :-
& 1 [Option ID = 8341]

[Question ID = 2087][Question Description = Q09_Russian_SHAAN_3DEC_51_Shift1]

OTMeThTe, K KAKOMY paspsaay MHCIHTeIBHBIX OTHOCHTCH CJIOBO «TPOeX:

)
(2)
(3)
(4

K KOJTHIECTBEHHOMY
K COOHpATeIbHOMY
K ZpoOHOMY

K HOPSIKOBOMY

1. 1 [Option ID = 8345]
2. 2 [Option ID = 8346]
3. 3 [Option ID = 8347]
4, 4 [Option ID = 8348]

Correct Answer :-
e« 1 [Option ID = 8345]

[Question ID = 2088][Question Description = Q10_Russian_SHAAN_3DEC_S$1_5hift1]

OTMeTbTe CMBICTOBOS BOCIIPHATHE, POib KOTOPOTO COCTOHT B AKTYATMH3AINH CeMaHTHIeCKOro ITOMAd,

COOTHOCHMOEO C ﬂﬁI[IEM CMBICTOM THITOTEIRI -

o0
)
(3
(4

CumpicToOpMyTHPOBaHHE
VeTaRoBIeHHE CMBICIIOBBIX CBA3EH MEAKITY CIIOBAMHE
CMBICIIOBOE OPOrHO3HPOBAHHE

Bepbansroe clIAIeERE

1. 1 [Option ID = 8349]
2. 2 [Option ID = 8350
3. 3 [Option ID = 8351]

4. 4 [Option ID = 8352

Correct Answer :-

e 1 [Option ID = 8349]

OTMeThTe, K KAKOMY pa3paay IMPHIATATSIBHBIX OTHOCHTCA CI0BO «cobagmiiy:

@
(2
3)
(4

K KAUeCTBCHHOMY
K OTHOCHIE/ILHOMY

K MPHTETAATCIBHOMY

K HOPSIKOBOMY
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[Question ID = 2089][Question Description = Q11_Russian_SHAAN_3DEC_S$1_Shift1]
1. 1 [Option ID = 8353]
2. 2 [Option ID = 8354]
3. 3 [Option ID = 8355]
4. 4 [Option ID = 8356]

Carrect Answer :-
& 1 [Option ID = 8353]

BeTaBbTe BMecTO TOUEK MOOXoaamyo GopMy OpIacTHs:
«B KapHxope CTOAT CTYAEHTHI, ... JK3aMeH.»

(1)  sagaBatomme
(2)  sagaromme
(3)  cnasaromme
(4)  crawomme

[Question ID = 2090][Question Description = Q12_Russian_SHAAN_3DEC_S51_Shift1]
1. 1 [Option ID = 8357]
2. 2 [Option ID = 8358]
3. 3 [Option ID = 8359]
4, 4 [Option ID = 8360]

Correct Answer :-
e 1 [Option ID = 8357]

5 OTMeThTe, KAaKOH B3 CIeIYIOIHX COTTACHBIX ABIAeTCA TYOHO-TYOHBIM N0 MecTy 00pa3oBAHAS H HOCOBBIM
IO CTIOCO0Y 00pa3oBaHA:
1 ™Ml
(2> [B]
3 [
(49 [H]

[Question ID = 2091][Question Description = Q13_Russian_SHAAN_3DEC_S51_Shift1]
1. 1 [Optien ID = 8361]
2. 2 [Option ID = 8362]
3. 3 [Option ID = 8363]
4, 4 [Option ID = 8364]

Correct Answer :-
a 1 [Option ID = 8361]

14) B KakoM H3 CIeAYIOMHX ¢I0B He IIPOHCXOJMT NPoliece OrAyMeHH?
(1) BE3TH
(2) CKA3KA
(3) TIanb
(49  ommex

[Question ID = 2092][Question Description = Q14_Russian_SHAAN_3DEC_S$1_Shift1]
1. 1 [Option ID = 8365]
2. 2 [Option ID = 8366
3. 3 [Option ID = 8367]
4. 4 [Option ID = 8368
Correct Answer ;-

e 1 [Opticn ID = 8365]

15)
OTMeThTe, KTO SBIEeTCH aBTOPOM «IIoydeHHS HeTamM):

(1) Bnagumap MogoMax
{(2) JTaHEmn 3aTOYHHK
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(3) Hectop
(4 HnapHoH

[Question ID = 2093][Question Description = Q15_Russian_SHAAN_3DEC_S1_Shift1]
1. 1 [Option ID = 8369]

2. 2 [Option ID = 8370]

3. 3 [Option ID = 8371]

4. 4 [Option ID = 8372]

Correct Answer ;-

e 1 [Option ID = 8369]

OTMeTbTe, KaK HA3BIBAMMCH CY/bI B IIepHOJ NpaBieHHs CTAlHHA, KOTOpble NPHHAMATH pelleHHS IO
paccTpenaM BparoB Hapoza:

1 CramaAns!
(2) Crpeabisl
(3) Tpotixn
(4)  Tarepxm

[Question ID = 2094][Question Description = Q16_Russian_SHAAN_3DEC_S1_Shift1]
1. 1 [Option ID = 8373)
2. 2 [Option ID = 8374]
3. 3 [Option ID = 8375]
4. 4 [Option ID = 8376]

Correct Answer :-
* 1 [Opticn ID = 8373]

OTMeThTe, B KaKOM H3 CIeAYIONIHX Fopo0oB PACHHCHIBATH XPAMBI H3BeCTHEIE JKHBOMHCIIBI AHApeH Py01sp
B deodan I'pex BMecTe:

(1) Hosropog
(2) Bramup
(3) MockBsa
(4) TlckoB

[Question ID = 2095][Question Description = Q17_Russian_SHAAN_3DEC_S$1_Shift1]
1. 1 [Option ID = 8377]
2. 2 [Option ID = 8378]
3. 3 [Option ID = 8379]
4. 4 [Option ID = 8380]

Carrect Answer :-
& 1 [Option ID = 8377]

1
8) OTMeTbTe, KaKkoe H3 HIDKE JAHHBIX CIOB AB/EACTCA HCTOPH3MOM:
(1) DogpHH
(2)  peioaps
(3) g0

4) He H3 BBIONe YKA3AHHBIX

[Question ID = 2096][Question Description = Q18_Russian_SHAAN_3DEC_S51_Shift1]
1. 1 [Option ID = 8381]
2. 2 [Option ID = 8382]
3. 3 [Option ID = 8383]
4, 4 [Option ID = 8384]

Correct Answer :-

e 1 [Option ID = 8381]

19)
GHIETBTE, KaKoe 3HATTCHHe HMeET CI0BO (KAOTED? B IIPeNNOFCHIH: ((YHGﬁHO PAChOJIOKEHD] RATOTEL
IIEPBOID Xiaccan

(1) KOMHATA ON4 3aHITHH
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(2) TPVIIa VIEHHAKOB
(3) paspaf, TOApa3fieNeHre B KIacCHPHKAIEN

(4) CTelleHb, YPOBeHb Hero-moo

[Question ID = 2097][Question Description = Q19_Russian_SHAAN_3DEC_S$1_Shift1]
1. 1 [Option ID = 8385)
2. 2 [Option ID = 8386
3. 3 [Option ID = 8387]
4. 4 [Option ID = 8388]

Correct Answer :-
& 1 [Opticn ID = 8385]

OTMeTETe CIoCoD 00pa30BAHKSA CTI0BA «IHEM:

(1) CAOMeHHe
(2) CpaleHHne
(3)  cydpmcanms
4) npedHKCAIHA

[Question ID = 2098][Question Description = Q20_Russian_SHAAN_3DEC_S51_Shift1]
1. 1 [Optien ID = 8389]

2. 2 [Option ID = 8390]

3. 3 [Option ID = 8391]

4. 4 [Option ID = 8392]

Correct Answer ;-

e 1 [Option ID = 838%]

OTMeTbTe, KaKoe H3 CISAVIONHX CJIOB 00pa3oBaHO IPH IIOMOME NpedHKCANLHO-CYHOEKCAILHOIC
MEeTOAA:

(1) HOAPYTOMY
(2) BHIXOIHTE
(3) JICHHTECS

(4) BELEAPHTH

[Question ID = 2099][Question Description = Q21_Russian_SHAAN_3DEC_S1_Shift1]
1. 1 [Option ID = 8393]

2. 2 [Option ID = 8394]

3. 3 [Option ID = 8395]

4. 4 [Option ID = 8396]

Correct Answer ;-

e 1 [Option ID = 8393]

BceTaBbTe BMECTO TOUCK IPABHIBHEIH BapHaHT B npeanoxeHm: «Hacenerne Iletepbypra BO3pocio 10 . . .
JeNOBeK.»

(1) OATH MeIbIX TPEX MeCAThIX MULUTHOHOB

(2) TISTH IeNbIX TPH JECATHIX MH/UIHOHOB

(3) IISTH HeNbIX TPH JeCAThIX MHILUTHOHOB

(4) ILITH LeBIX TPEX JecAThIX MEVUTHOHA
[Question ID = 2100][Question Description = Q22_Russian_SHAAN_3DEC_51_Shift1]
1. 1 [Opticn ID = 8397]
2. 2 [Option ID = 8398]

3. 3 [Option ID = 8399]
4, 4 [Option ID = 8400]

Correct Answer :-
a 1 [Option ID = 8397]

23) _
BceTaBbTe BMECTO TOUEK TIpaBHILHBIH BAPHAHT B [TPEATTOKCHHH «CeroHa XoTHIH KO MHe ...»

e Y L ——— o T
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(2) TPH MOHX ABOIOPOJHBIX CECTPHI
(3) TPH MOHX JBOIOPOJIHEIX CeCTED

4) TPEX MOHX ABOIOPOJHBIX CECTED

[Question ID = 2101][Question Description = Q23_Russian_SHAAN_3DEC_S1_Shift1]
1. 1 [Option ID = 8401]
2. 2 [Option ID = 8402)
3. 3 [Option ID = 8403]
4. 4 [Option ID = 8404]

Carrect Answer :-

e 1 [Option ID = 8401]

OTMeTETE HoAxo amee 10 CMBICTY OPHIAATENRHOE B TPETUIKEeHHH ((SEMEHHHHE‘ cIeliadHo2 B . . . TOHE,

He OOHAUT HelIOBEKA »

(1) IPYAKHOM
(2) IpYAHOMR
(3)  mpywseckom

(4) IpYEKeCTBeHHOM

[Question ID = 2102][Question Description = Q24_Russian_SHAAN_3DEC_51_Shift1]
1. 1 [Option ID = 8405]

2. 2 [Option ID = 8406]

3. 3 [Option ID = 8407]

4. 4 [Option ID = 8408]

Carrect Answer ;-

» 1 [Option ID = 8405)

OTMeTEIe NOOXOAMIISe [0 CMBICHY NPHIATATEIBHOS B INPeIIOXKEHHH. «ABTOpP CTaThH . . . PYKOH
BBIMIEPKHYII HepBhle JBa ab3ana.»
(1) JIHTHOH
(2) HaCTHOH
(3) COOCTBeHHOH
(4) JITIHBIM
[Question ID = 2103][Question Description = Q25_Russian_SHAAN_3DEC_51_Shift1]
1. 1 [Option ID = 8409]
2. 2 [Option ID = 8410]

3. 3 [Option ID = 8411]
4, 4 [Option ID = 8412]

Correct Answer :-
a 1 [Option ID = 8409]

BeraBpTe BMeCTO TOYEK l'lIJaBHJIbHBII?I H3 JaHHEIX HHAKE BApPHAHTOB:

«ITOT 3aBOT IEPEBBIIICIHNT . . . 3TOTC TOHa.»

(1) IUVIAHOBYIO 33839V
(2) ILIAHOBOH 337a490i
(3) ILTIAHOBOES 3aAaHHe

(4) IUTAHOBBIM 3ajaHHEeM

[Question ID = 2104][Question Description = Q26_Russian_SHAAN_3DEC_S51_Shift1]
' 1. 1 [Option ID = 8413]
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| 2. 2 [Option ID = 8414]
3. 3 [Option ID = 8415]
4. 4 [Option ID = 8416]

Correct Answer :-
& 1 [Opticn ID = 8413]

Ko ua CHAeNVIOIOHE INMO3T0R HATTHCAI AHTHCTATHHCKYD 3T DAaMMY «MEer KABEM, IO coDoI0 He

Yy CTPaHED?

(1) M. LIBeTacBa
(2) E. EBTynmIieHxo
(3) C. Ecenus

(4) Q. MaHgesImraM

[Question ID = 2105][Question Description = Q27_Russian_SHAAN_3DEC_S51_Shift1]
1. 1 [Option ID = 8417]
2. 2 [Option ID = 8418]
3. 3 [Option ID = 8419]
4, 4 [Option ID = 8420]

Correct Answer :-
a 1 [Option ID = 8417]

28)
«Bce MBI KITH pAIOM ¢ Hell ¥ He IOHATH, UTO €CTh 0HA TOT CAMBIH IIpaBeIHHK, 6e3 KoToporo,

TIO TIOCJIOBHIEE, He cTo|T ceyo. Hu ropon. Hu Bes Hamma aeMmmgy
O mpoTaroEHcTe KAKOro HpoH3BeleHHd HIET pedb B BhIlIeYKA3AHHOH 1ETate’

(1) «MaTpEHHE ABOPH
(2) «Ko1nosag»
(3) «Mactep 1 Maprapara»

(4D «Mezea H ee AeTE»

[Question ID = 2106][Question Description = Q28_Russian_SHAAN_3DEC_S$1_Shift1]
1. 1 [Option ID = 8421]
2. 2 [Option ID = 8422
3. 3 [Opticn ID = 8423]
4. 4 [Option ID = 8424
Correct Answer :-

e 1 [Option ID = 8421]

29) Kom(MEKT MeXKIy DONTOM H YyBCTBOM H MoOela HOITA HAN UYBCTBOM ABIMIOTCA XAPAKTePHOH Ueproi

TIpOH3BeNCHHH!
(1) POMAHTH3IMA
(2) CeHTHMeHTAIH3MA

(3) peaHzMa
(4) KITACCHITH3IMA

[Question ID = 2107][Question Description = Q29_Russian_SHAAN_3DEC_51_Shift1]
1. 1 [Option ID = 8425]
| 2. 2 [Option ID = 8426]
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| 3. 3 [Option ID = 8427]
4. 4 [Option ID = 8428)

Carrect Answer :-
s 1 [Option ID = 8425]

[Question ID = 2108][Question Description = Q30_Russian_SHAAN_3DEC_S1_Shift1]

H3 KaKOro TeKCTa B3SThI CIeAVIOITHe CTPOYKH?

«__.Tax HAYT JepxaBHBIM ITATOM -
IIo3ans - FOIOTHBIA MEC.

Brepean - ¢ EpOBABEIM (hiraron,
H 3a BBIOTOH HEBEHM,

H o1 nym HeBpemHM,

HexBoH MOCTYObiO0 HATBBIOXKHOH,
CHeXKHOH POCCHIIBIO JKeMIVKHOIM,
B OemoM BeHYHKE U3 PO3 —
Briepemn - Hcyc XpHeToc.»

(1) «Pexsrem» A AXMATOROH
(2) «/IBeHEammaTe» A Bmoka

(3) «Bensni [Tapoxom» U. AfitmMaToBa

(4) «YTHHAL 0x0Ta» A BaMmmmosa

1. 1 [Option ID = 8429]
2. 2 [Option ID = 8430]
3. 3 [Option ID = 8431]
4,

Correct Answer :-

4 [Option ID = 8432

e 1 [Option ID = 8429]

2 } H3 KaKOro TeKcIa B3STHI CIeAVHOIHe CTPO‘IBCE{?

[Question ID = 2109][Question Description = Q31_Russian_SHAAN_3DEC_51_Shift1]

«Tax0 mpercq THXHEH JoH,
JKenThiii Mecdil BXOJHT B JOM.
BxonaT B manke HAOeKpeHs.
BHIHAT elITHIH MeCHI TeHb.
JTa sKeHIDHHA DOABHA,

T4 >KeHNHER OHA.

My:K B MOTHIIC, CHIH B TIOPBME,
TTomomuTech 000 MHe. »

(1) «PexsueM» A. AXMaTOBOH
(2) «bempi ITapoxog» 9. AiffTMaToBa
3) «OK3BH u noMHER» B. PaciryTHHA

{4) «YTHHAA 0X0Ta» A. Bayvmmiiosa

1. 1 [Option ID = 8433]
2. 2 [Option ID = 8434)]
3. 3 [Option ID = 8435]
4, 4 [Option ID = 8436]

Correct Answer :-
a 1 [Option ID = 8433]

[Question ID = 2110][Question Description = Q32_Russian_SHAAN_3DEC_S1_Shift1]

Briepeble B Ie9aTH YOOTPeOIeH TePMAH «COMBATHCTHYECKHH peald3zy Ha CTPaHHIAX XKypHAIA:

(1) «JIHTepaTypHAL raseTa»
(2) «HoBBIH MHDP»

(3) «OKTI0pb»

(4) «OTOHEK

prepp
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. 1 [Opticn ID = 8437]
2 [Option ID = 8438]
3 [Option ID = 8439]
. 4 [Option ID = 8440

N S PO L ey

Correct Answer :-
e 1 [Opticn ID = 8437]

33) BxaureB. TTporma «Mopdonoriads ckazkm aHATHIAPYIOTCH CTPYKIYPHBIE 0CODEHHOCTH:

(1) PYCCKEX OBITOBBIX CKA30K
(2) PYCCKEX BOJMIHEOHBIX CKAZ0K
(3) PYCCKEX CKA30K O KEBOTHBIX

(4) COBpPeMeHHBIX PYCCKHX CKa30K

[Question ID = 2111][Question Description = Q33_Russian_SHAAN_3DEC_S1_Shift1]
1. 1 [Option ID = 8441]
2. 2 [Option ID = 8442]
3. 3 [Option ID = 8443]
4. 4 [Option ID = 8444]

Carrect Answer :-
& 1 [Option ID = 8441]

Yem 3akaHuHBaeTCs «CH0BO 0 DOIKy Hropesen?

(1) cnepTEio Hrops
(2) oercreoM Hrops B3 mieHa
(3) Hropp ocTaéTcs B IWIeHY

(4) Ka3HbI0 Hrops

[Question ID = 2112][Question Description = Q34_Russian_SHAAN_3DEC_S51_Shift1]
1. 1 [Option ID = 8445]

2. 2 [Option ID = 8446]

3. 3 [Option ID = 8447]

4, 4 [Option ID = 8448]

Correct Answer :-

a 1 [Option ID = 8445]

35
) Korza BO3HHKIO JHTepaTypHOe HAIPABIICHHEe «CeHTHMEeHTAIH3MY B POCCHH?

(1) Ji0 TIOARIeHH KIACCHITHIMA
(2) TOCTe DOSBISHMSI KIACCHINIMA
(3) mmoce NOABNICHHA POMAHTHIMA

(4) mmocne MOABNCHHS PeATHIMA

[Question ID = 2113][Question Description = Q35_Russian_SHAAN_3DEC_S1_Shift1]
1. 1 [Option ID = 8449]

2. 2 [Option ID = 8450]

3. 3 [Option ID = 8451]

4. 4 [Option ID = 8452]

Correct Answer ;-

e 1 [Option ID = 8449]

(1) M. I'opbKOro
(2) A Kympuaa
(3 Y ByHHHA
(4) H TIorons
[Question ID = 2114][Question Description = Q36_Russian_SHAAN_3DEC_S1_Shift1]

JIPITEP&T}TPHDE HallpapJICHHE «(HaTYpAILHAd ITKOJIA» BOSHHKAO B PoccHl o BIAHAEHEM TBOPHECTBA.
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Correct Answer :-

. 1 [Opticn ID = 8453]

2 [Option ID = 8454
. 3 [Optien ID = 8455]
. 4 [Option ID = 8456]

s 1 [Option ID = 8453]

) TTocnenged poMaHTHYeCKOH 1103MOoH A. TTyvmmxmHa asugeTcq:

(1)
2
(3
(4

«JBIra"eD?
«KaBKa3CKHE IUIeHHAI)
«BpaTp pazOOHHAKR

«baxmucapaicimi JoETaE»

[Question ID = 2115][Question Description = Q37_Russian_SHAAN_3DEC_S1_Shift1]
1 [Option ID = 8457]
2 [Option ID = 8458]

Correct Answer :-

1.
2.
3. 3 [Option ID = 8459]
4. 4 [Option ID = 8460

e 1 [Option ID = 8457]

(1)
2)
(3
@

ABTOPDM paﬁum {ICTETHKA CIOBeCHOTO TBOpUCCTEA» ABILICTCA

HO. Jlotman
H. Ilncapes
B. BerpHCKIH

M. BaxTEH

[Question ID = 2116][Question Description = Q38_Russian_SHAAN_3DEC_S1_Shift1]
1. 1 [Option ID = 8461
2. 2 [Option ID = 8462]
3. 3 [Option ID = 8463]
4,

Correct Answer :-

4 [Option ID = 8464

e 1 [Option ID = 8461]

B KaKHX rogax OBLIO HAITACAHO IIpoH3BeacHHe A. IIymKkuHa «EpreHmii OHerHH»?

(1)
(2)
(3
(4

1820 - 1832
1823 - 1830
1825 - 1834
1826 — 1832

[Question ID = 2117][Question Description = Q39_Russian_SHAAN_3DEC_S1_Shift1]
1. 1 [Option ID = 8465
2. 2 [Option ID = 8466]
3. 3 [Option ID = 8467]
4,

Correct Answer :-

4 [Option ID = 8468

& 1 [Option ID = 8465]

K KakoMy XaHpY OTHOCHTCH Obheca A. I'pudboefosa «I ope oT yMa»n?

M
)
(3)
(4)

Komemas
Tparemas
Hpama

BopesHs

prepp
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[Question ID = 2118][Question Description = Q40_Russian_SHAAN_3DEC_51_Shift1]
1. 1 [Option ID = 8469]
2. 2 [Option ID = 8470]
3. 3 [Option ID = 8471]
4, 4 [Option ID = 8472]

Correct Answer :-
a 1 [Option ID = 8469]

C TOUKH 3peHHMS XpPOHONOTHM Kakad 9acTh poMaHa «lepoH HAIero BpeMeHH» OODKHA HAXOZHTGCSA B
CaMoM Hagaye?
(1) Maxcam MaxcHMEI
(2} TamMaEL
(3) DaTanHCT
(4) Kusxna Meps
[Question ID = 2119][Question Description = Q41_Russian_SHAAN_3DEC_51_Shift1]
1. 1 [Option ID = 8473]
2. 2 [Option ID = 8474]

3. 3 [Option ID = 8475]
4. 4 [Option ID = 8476]

Carrect Answer :-
& 1 [Option ID = 8473]

42 ” o
) OTMeThTe, KaKas H3 CIeAyOIHX Thec 3aKANIHBAETCH HEMOH CEHOH:

(1) «I'poza» A. OCTPOBCKOTO
(2) «Pesnsop» H. I'orons
(3) «BHImHeBsH camy A. YexoBa

(4) «Ha mae» M. I'opsKoro

[Question ID = 2120][Question Description = Q42_Russian_SHAAN_3DEC_51_Shift1]
1. 1 [Option ID = 8477]
2. 2 [Option ID = 8478]
3. 3 [Option ID = 8479]
4, 4 [Option ID = 8480]

Correct Answer :-
a 1 [Option ID = 8477]

43)

B cratee H. JlobpomoboBa «JIyd cBeTa B TeMHOM [APCTBE» aHATH3HpPYeTCS Ibeca:

(1) «PeBHE3OP»

(2) «I"po3an

(3) «KwBoH TpyID
(4) «Tope oT yaa»

[Question ID = 2121][Question Description = Q43_Russian_SHAAN_3DEC_51_Shift1]
1. 1 [Option ID = 8481]

2. 2 [Option ID = 8482]

3. 3 [Option ID = 8483]

4. 4 [Option ID = 8484)

Caorrect Answer ;-

» 1 [Option ID = 8481]

44)
Karo# pacckas A Yexopa He OTHOCHTCH K er0 TPHIOTHH?

(1) «VIOHBIT»
(2) «HenoBeK B QpyTiape»
(3) «Q MoOBI»

(4) « K pBDKOBHHK
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[Question ID = 2122][Question Description = Q44_Russian_SHAAN_3DEC_51_Shift1]
1. 1 [Option ID = 8485]
2. 2 [Option ID = 8486]
3. 3 [Option ID = 8487]
4, 4 [Option ID = 8488]

Correct Answer :-
a 1 [Option ID = 8485]

OTCYTCTBHEE HOBECTBOBAaTENS O0BIYHC HAOIFOAeTCS:

(1) B 3IOCe
(2} B pOMAHE B CTHXAX
(3) B [TO3M2

(4) B ApamMe

[Question ID = 2123][Question Description = Q45_Russian_SHAAN_3DEC_51_Shift1]
1. 1 [Option ID = 8489]

2. 2 [Option ID = 8490]

3. 3 [Option ID = 8491]

4, 4 [Option ID = 8492]

Correct Answer ;-

e 1 [Option ID = 8489%]

46)
H. KapaM3HH g8/I9eTCA aBTOPOM HOBECTH:

(1) «Begnag Mamay
(2) «Gemuag Juza»
(3) «BeaHbIe IO

(4) «HecuactHag JIH3ay

[Question ID = 2124][Question Description = Q46_Russian_SHAAN_3DEC_S$1_Shift1]
1. 1 [Option ID = 8493]
2. 2 [Option ID = 8454
3. 3 [Option ID = 8495]
4. 4 [Option ID = 8496]

Correct Answer :-
& 1 [Opticn ID = 8493]

ABTOpOM KHHTH «O TeOPHH IIPO3bD) ABIIETC:

(1) B. IlIxmoBckmid
(2) M. BaxTeH

(3) ¥O. Jlormanm
(4) B. Iponm

[Question ID = 2125][Question Description = Q47_Russian_SHAAN_3DEC_S1_Shift1]
1. 1 [Option ID = 8497]

2. 2 [Option ID = 8498]

3. 3 [Option ID = 8499]

4. 4 [Option ID = 8500]

Correct Answer ;-

e 1 [Option ID = 8497)

48) Ormersre, Kakde B3 CISAYIONIHX MECTOMMEHHIA OTPHEIIATEIBHBIE!
HEKOTOo
Heuero

HEKTO

oo owp

HEHITO
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[Question ID = 2126][Question Description = Q48_Russian_SHAAN_3DEC_S$1_Shift1]

(L
2
3
4

A, B only
B, C only
C, D only
A, D only

1. 1 [Option ID = 8501]
2. 2 [Option ID = 8502]
3. 3 [Option ID = 8503]
4. 4 [Option ID = 8504]

Carrect Answer :-
& 1 [Option ID = 8501]

[Question ID = 2127][Question Description = Q49_Russian_SHAAN_3DEC_S51_Shift1]

O1MeThTe, Kakde B3 CIIeAyIOIHEX IpeiIoroB HapedHble:

A
B
&
D
D
2)

(3)
(4)

. BAOIB
. Bpoze
HanogooH:e

. HanpoTHB

A, B only
B, C only
C, D only
A, D only

1. 1 [Option ID = 8505]
2. 2 [Option ID = 8506
3. 3 [Option ID = 8507

4, 4 [Option ID = 8508]

Correct Answer :-
e 1 [Option ID = 8505]

[Question ID = 2128][Question Description = Q50_Russian_SHAAN_3DEC_S1_Shift1]

OTMeThTe, KaKHe H3 CHE,I[}’IOIE]E TIArOJIOB SBIASIOTCA IIaronamMH QelcTEBHTeIbHOIO 3A7I0TA:

A
B.
C.
D.
ey
¢

3
@

CTPOHTECH

CHMEPKATECA

CTY9aThCs

H3YUATHCSA

A, B only
B, C only
C, D only
A, D only

1. 1 [Option ID = 8509]
2. 2 [Option ID = 8510]
3. 3 [Option ID = 8511]
4. 4 [Option ID = 8512]

Correct Answer -
e 1 [Option ID = 8509]

OTMeTETe, KaKHe H3 CJIeAyIOMAX CYINecTBUTeNBHEbIX 00IagaioT cBolcTBaMA simgularia tantum:

A
B.
C.

D.

JOACTBA
CEHO
Hedpa

bemita

prepp

Your Personal Exams Guide



www.prepp.in

ey
3

[Question ID = 2129][Question Description = Q51_Russian_SHAAN_3DEC_S51_Shift1]

A, B only
C. D only

1. 1 [Option ID = 8513]
2. 2 [Option ID = 8514]
3. 3 [Option ID = 8515]
4, 4 [Option ID = 8516]

Correct An

swer -

» 1 [Option ID = 8513]

@) B,Conly
(4) A,D only

OTMeThTe, Kakie H3 CIeAVIOMHX CYIIeCTBUTEIbHBIX IPHHAUISHKAT CpelHEMY POAY:

=

(L
3

[Question ID = 2130][Question Description = Q52_Russian_SHAAN_3DEC_51_Shift1]

bpay
HIOPH
HHTEPBLIO
Toxmo
A, B only
C.D only

1. 1 [Option ID = 8517]
2. 2 [Option ID = 8518
3. 3 [Option ID = 8519
4. 4 [Option ID = 8520]

Correct Answer ;-

e« 1 [Option ID = 8517]

53)

OtMeThTe, B KAKHX CI0BOCOUETAHMAX BCTPEYMATCH KavYeCTBeHHBIC TPpH. TaraTeIbHbBIS!

© 0w p

(L
2
3
(4)

[Question ID = 2131][Question Description = Q53_Russian_SHAAN_3DEC_S1_Shift1]

Jerle3Has pyaa
CTAIBHAL TPYOa
OapXaTHBIH roxoc
DacKkeTOOMBHEIHE pocT

A, B only

B, C only

C, D only

A, D only

1. 1 [Option ID = 8521]
2. 2 [Option ID = 8522
3. 3 [Option ID = 8523]

4. 4 [Option ID = 8524

Correct Answer :-

e 1 [Option ID = 8521]

34) BrroepHTe pedopMbl opH I[Terpe-I-

A
B.
C.

D.

(1%

TabeNs 0 paHTax

TTossnenne Apieika

Cosganne CeHata

Hoss1ii cBon 3aK0HOB — CyIeOHHK

A R anly

(2) B,Conly
4) A,Donly

prepp
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2
3
4

-

A, Conly
A, B, Conly
B, C, D only

[Question ID = 2132][Question Description = Q54_Russian_SHAAN_3DEC_S1_Shift1]
1. 1 [Option ID = 8525]
2. 2 [Option ID = 8526]
3. 3 [Option ID = 8527]
4, 4 [Option ID = 8528]

Carrect Answer :-
s 1 [Option ID = 8525]

OrMeTETe, KaKde H3 HEKe ZAHHBIX (pa3seoloTHsMOB SBINIOTCH ()paseolorH9ecKAMH CpANTeHAIMH:

oo w

(1
(2)
(3)
@

KaK IHTH JaTh
C/I0MS TONOBY
cede Ha yMe
TepEbIi OJIHA KOMOM
A, B, Donly
A C D only
A, B, Conly
B, C,Donly

[Question ID = 2133][Question Description = Q55_Russian_SHAAN_3DEC_S1_Shift1]
1, 1 [Option ID = 8529]
2. 2 [Optien ID = 8530]
3. 3 [Option ID = 8531]
4,

4 [Option ID = 8532

Correct Answer :-

e 1 [Option ID = 8529]

OI'ME!TBTE, KAKHE H3 HIGRC JaHHBPIX CJI0B ABJIAIOTCA HHOMAIEMHBIMH CJIOBAMH.

A
B.
c.
D.
ey
2
(3)
4)

30HTHK
GynsBap
03epo
PamocTh
A, B only
A, Conly
C. D only
B.Donly

[Question ID = 2134][Question Description = Qb6_Russian_SHAAN_3DEC_S51_Shift1]

N U VU Ty

1 [Option ID = 8533]
. 2 [Option ID = 8534]
. 3 [Option ID = 8535]
. 4 [DOption ID = 8536]

Correct Answer :-
e 1 [Option ID = 8533]

OIMETHI‘B, B KAKHX HHAS JAaHERIX CIOBAX BCTPCUALTCA CIIOKCHHS,

A
B.
C

™

. OBOIICXPAHIHINS

TOpHropos

. 3aCYXOVCTOMTHBEIH

-
TTATITUATITA LA TMATEITIIES

prepp
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1)
(2)
(3
(4)

A, B only
A, C only
B, D only
A, D only

[Question ID = 2135][Question Description = Q57_Russian_SHAAN_3DEC_51_Shift1]
1. 1 [Option ID = 8537]
2. 2 [Option ID = 8538]
3. 3 [Option ID = 8539]

4. 4 [Option ID = 8540]

Carrect Answer :-

1 [Option ID = 8537]

KTo B3 clefiyFoNTHX I03TOB HOKOHYHI KH3Hb CAMOYOHHECTBOM OO 0(HTHATFHEIM AOKYMEHTaM?

A
B.
¢
D.
)
)
(3)
(4

M. Ilgetaera
B. MagxoBcKHH
C. Ecennn
O. MaHzeapIOTaM
B, C only
A, B only

A, B, C only
A B, C,Dall

[Question ID = 2136][Question Description = Q58_Russian_SHAAN_3DEC_S1_Shift1]
1. 1 [Optien ID = 8541]
2. 2 [Option ID = 8542]
3. 3 [Option ID = 8543]
4. 4 [Option ID = 8544]

Correct Answer :-
e 1 [Option ID = 8541]

OTMeThTe MPABHIbHYIO Tapy H3 CAOYIONTHX:

O 0w p

ey
2
(3
@

«Ha ITae» - JIvka
«"po3a» - KabanoBa
«IIamata Ne 6» - Parun

«BamueBsni camy - Jlomaxue

A, Bonly
B, D only
A, Conly
A,B C,Dall

[Question ID = 2137][Question Description = Q59_Russian_SHAAN_3DEC_S51_Shift1]
1. 1 [Option ID = 8545]
2. 2 [Option ID = 8546]
3. 3 [Option ID = 8547]
4, 4 [Option ID = 8548]

Correct Answer :-

a 1 [Option ID = 8545]

60)

Koro H3 cllefylOMAEX MHCcaTeled HOCIAIH B KATOPIy?

A. A ComxeHREUBIHA

T

L A e e

prepp
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C. J1. Tomcroro
D. M. byarakosa

(1) A, B, Donly

(2) A, B only
(3) B, C only
(4) A, D only

[Question ID = 2138][Question Description = Q60_Russian_SHAAN_3DEC_S1_Shift1]
1, 1 [Option ID = 8549]
2. 2 [Option ID = 8550]
3. 3 [Option ID = 8551]
4. 4 [Option ID = 8552]

Carrect Answer :-
e 1 [Option ID = 8549]

Kaxne n3 cae yIOIMMX IHTAT BeTpedaloTed B Ipor3sBeaeHHER M. byarakosa «Mactep H Maprapuran?

A. «CambIii CTpAITHEIA THEB — THEB OeCCHIHS »
B. «3imbIX mozeti HeT HA CBeTe, €CTh TOJBKO JIOIH HeCHACTIHBEIE.»

C. «Tot, KT0 MOOHT, ZOIDKEH Pa3aeIfrh YIacTh TOTO, KOTO OH JIFOOHT.»

D. «Hadyxoe cHacTbe He HATIAAHMCE.»

(1) A, Bonly

(2)  A,Donly

(3 A B,Conly
4 A B,C Dall

[Question ID = 2139][Question Description = Q61_Russian_SHAAN_3DEC_51_Shift1]
1. 1 [Option ID = 8553]
2. 2 [Option ID = 8554]
3. 3 [Option ID = 8555]
4, 4 [Option ID = 8556]

Correct Answer :-
e 1 [Option ID = 8553]

%) Karme 3 clIeAyrOIIEX MATAT BCIPedaloTcd B npousseeHdd B. PacnyTeHa «OKuen & IMToMmeEm»?
A «HeT TaKoH BHHBI, KOTOPYIO HEIB3A OPOCTHTH.»
B. «UToDBI HOHEMATS APVT APYra, MHOTO CTIOB He Hafo. MHOro Hafio — 9T00bI He IIOHHMATH.»
C. «Uenosex be3 clOpIpH3a BHYTPH, B CBOEM AIIMHKe, HOHHTEPECeH.»
D. «Bura Tpe0yeT BHHEL, Nponamad Jylia AmeT IIPOIacTH Normyoxe.»
(1) A, C,Bonly
(2) A, B, D only
(3) A, C,D only
(4) B,C,D only

[Question ID = 2140][Question Description = Q62_Russian_SHAAN_3DEC_S1_Shift1]
1. 1 [Option ID = 8557]

2. 2 [Option ID = 8558]

3. 3 [Option ID = 8559]

4. 4 [Option ID = 8560]

Correct Answer ;-

e 1 [Option ID = 8557)

e s
T wrwrras T3 (T T AT T TRELAT I LA TRATT TR TRATE AT ITTA TR AT AT A T T AT T AT TR Ao vt )
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A. «OmuH JeHr B #13HHE MBaga HemicoBA4day
B. «¥YT1HAAg oxoTam

C. «KotaasaH»

D. «¥pal»

(1) B, C only
(2) A, D only
(3) A, B only
(4) C, D only

[Question ID = 2141][Question Description = Q63_Russian_SHAAN_3DEC_S1_Shift1]
1. 1 [Option ID = 8561]
2. 2 [Option ID = 8562]
3. 3 [Option ID = 8563]
4. 4 [Option ID = 8564]

Correct Answer :-
& 1 [Opticn ID = 8561]

Kakne 13 cieAyIOIIAX DPOHIBEEHHH TPHIACIIMIOTC K 3aepKaHHOM JIHTeparype?
A. «Kotrnosas» A. IlnaToHOBA

B. «Km3Hb H cyapbay» B. I'poceMana

C. «OxuH JeHb B ##3HH MBaHa JJeHHcoBHda» A. Co/DKeHHIEIHA

D. «Cypp0a genosexa» M. Illomoxosa

(1) A, B only
(2) A, B, C only
(3 A Doy
(4) C, D only

[Question ID = 2142][Question Description = Q64_Russian_SHAAN_3DEC_S1_Shift1]
1. 1 [Option ID = 8565]

2. 2 [Option ID = 8566

3. 3 [Option ID = 8567]

4. 4 [Option ID = 8568

Correct Answer :-

e 1 [Option ID = 8565]

Kaxue u3 cueyrOIEX IPOH3BEIeHHH IPAIACIAIOTC K JEPEBEHCKOH OPO3bI?
A, «Marpénns gsop» A. ConKeEHIBIHA

B. «Cynp0da gwenosexa» M. ITonoxosa

C. «lIpomante ¢ MaTepoi» B. PacIyTHHA

D. «OnvH JeHs B xH3HA MBaga Jerncopnday A. CODKeHALIBIHA

(1) A, B only
(2) B,Conly
(3) A, Conly

4 A, C,Donly

[Question ID = 2143][Question Description = Q65_Russian_SHAAN_3DEC_S51_Shift1]
1. 1 [Option ID = 8569]
2. 2 [Option ID = 8570]
3. 3 [Option ID = 8571]
4, 4 [Option ID = 8572]

Correct Answer :-
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s 1 [Option ID = 8569]

Kaxme 13 creyroInax HPOH3BE/IEHHA ABIAIOTCH IPAMEPANMHA JTATePHOH OpO3BL?
A, «Marpenns geop» A. CoKeEHIBIHA

B. «Komemcrie pacckassdy B. ITTazamosa

C. «¥Ypabhy C. lllapryHosa

D. «OmuH geHb B A3ai36d VBaHa JJerHcopHda» A. CoDKeHEHIBIHA

(1) A, B only
(2) B, C only
(3) A, Donly
(4) B, D only

[Question ID = 2144][Question Description = Q66_Russian_SHAAN_3DEC_51_Shift1]
1. 1 [Option ID = 8573]
2. 2 [Option ID = 8574]
3. 3 [Option ID = 8575]
4, 4 [Option ID = 8576]

Correct Answer :-

e 1 [Option ID = 8573]

Kaxwe 13 CTIEAYIOITNX NHCATeTeH IIPHIACISIOTC K THTEPaType PyCcKoro 3apybexsa?

H. bynasn
A. ComxeHHMIBIH

C. Hobnatos

O oW P

A_Bmox

() A Donly
2 A Bonly
(3) A B, C only
(4) A B CDall

[Question ID = 2145][Question Description = Q67_Russian_SHAAN_3DEC_51_Shift1]
1. 1 [Option ID = 8577]
2. 2 [Option ID = 8578]
3. 3 [Option ID = 8579]
4, 4 [Option ID = 8580]

Correct Answer :-
a 1 [Option ID = 8577]

68) Kaxwe u3 crexyromux xoMIosHImi otHOCATCH K C. IIpokodsesy?
A. «BoHHA H MHD»

B. «PoMeo H [KyIBeTTAY

C. «Somymxa»

D. «Pycnad u JHoAMMTa»

(1) A Donly
(2) A, B only
(3) A,B,Conly
(4) A B, C Dall
[Question ID = 2146][Question Description = Q68_Russian_SHAAN_3DEC_S51_Shift1]
. 1 [Option ID = 8581]
. 2 [Option ID = 8582]

1
2

3. 3 [Option ID = 8583]
4. 4 [Option ID = 8584]
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Carrect Answer :-

1 [Option ID = 8581]

69)

A.
B.

C.
D.

(1
2
(3)
C)

Kaxme u3 CIIEOVIOTIHX ABLTHOTCA FIIABHBIMH YCPTAMHA COTHATHCTHISCKOTO pea:m"m‘?

Haoﬁpamelme deHCTBHTENLHOCTH B &8 PEBOMIONHOHHOM PA3BHTHH

codeTaHHe NIPABAMBOCTH H HCTOPH'IECKOH KOHKPETHOCTH Xy A0KeCTBEHHOTO H300pake U ¢ 3afadei
HIeHHOH IIepeaelIKn

BOCIHMTAHHE TPYNMINTHXCH B TYXe CONHATHIMA
CTpeMIIeHAe OPOCHTE BbI30B OOINECTBEEHBIM YCTOSM, MOPAIHE, Pe/MTHH, TPATHITHOHHOMY HCKYCCTBY
A, Bonly
A, B, Conly
A B, Donly
A B C,Dall

[Question ID = 2147][Question Description = Q69_Russian_SHAAN_3DEC_S1_Shift1]
1. 1 [Optien ID = 8585]
2. 2 [Option ID = 8586]
3. 3 [Option ID = 8587]
4. 4 [Option ID = 8588]

Correct Answer ;-
e 1 [Option ID = 8585]

Kaxue H3 c/IeAVIONTHX KHHT ABIAAIOTCA YacTAMH poMaHa «IIpoKIaThl H YOHTHD) B. AcTadbena?

A
B.
C.
D.
(D
(2
(3)
(4)

«HepToBa AMa»
«LTapp-peiba
«I Lranmapns
«ITeuanpHBIH JETEKTHB»
A, B only
B, C only
A, Conly
A, D only

[Question ID = 2148][Question Description = Q70_Russian_SHAAN_3DEC_51_Shift1]
1. 1 [Option ID = 8589]
2. 2 [Option ID = 8590]
3. 3 [Option ID = 8591]
4. 4 [Option ID = 8592]

Correct Answer ;-
e« 1 [Option ID = 858%]

Koro u3 caeayomHx OHcaTeTeH NPHIHCIANHE K «HATYpaTbHOHR HITONe»?

A
B.
G
D.
0y
(2)
(3)
(4

H_Hexkpacosa

J. I'puroposuga
A Tepnena
M. Canreikopa-Illeapuea
A, D only
A, B only
A, B, C only
A B, C.Dal

[Question ID = 2149][Question Description = Q71_Russian_SHAAN_3DEC_S51_Shift1]
| 1. 1 [Option ID = 8593]

prepp
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| 2. 2 [Option ID = 8594]
3. 3 [Option ID = 8595]
4. 4 [Option ID = 8596]

Correct Answer :-
& 1 [Opticn ID = 8593]

72)

OTMeTETe, KaKHe H3 CIIEOVIOMHE ABIIIOTCH CIIOHOIIO ATHHEHHBIMH OpeUIOKEHHAMH ¢ IPHAATCYHBIME
TIpHYHHBL

A
B.
C.

D.

ey
2
(3)
@D

Bomirens Kak pa3 [Aj1g TOTo, YTe0H JIFOH CXJIBIHYIIH, 3aCTOHOPHA MAIHHY OPOTHB KAIHTKH.
Cobake Aalnexo 3ai1e3lH B KOHYPB!I, 07aro e Ha Koro OBLIO 1adTh.

OH npeABH/eN HeMAHYEMBIe PACXObl, HOO AABHMH 3amac rpoOOBLIX HAPANOB MPUXOTHT Y HETO B
HAJIKOE COCTOAHHAE.

YenM O/MDKe K HATYpe, TeM JIydme.
A, Bonly
B, C only
C. D only
A, D only

[Question ID = 2150][Question Description = Q72_Russian_SHAAN_3DEC_S51_Shift1]
1. 1 [Option ID = 8597]
2. 2 [Option ID = 8598]
3. 3 [Option ID = 8599]
4. 4 [Option ID = 8600]

Correct Answer -
e 1 [Option ID = 8597]

OIMeTETe, KagHe H3 CICOYIOHTHX ABJITIOTCA CHONHOIIOATHHEHHEIMHA NPpEeIOKEHHAMH € IIPHAATOTHEIMH
HABACHHTCIbHBIMH

HesxypHBIH cOODIIII, 9T AeileralHa IPHOBLIA.
BommHeHHe 370051 BO MHE OBLTO CTO/B CHABHO, UTO A He MOHAASANICA Ha BEPHOCTD PYKH...
brino Tak TeMHO, 4TO Bapd ¢ TpyAOM pasiHyana Zopory.
PacTipocTpasHIc CIIyX, ITC OpHETamy mepeBeyT B APVIOH HeX.
A, B only
B, C only
C, D only
A, D only

[Question ID = 2151][Question Description = Q73_Russian_SHAAN_3DEC_S1_Shift1]
1. 1 [Option ID = 8601]
2. 2 [Option ID = 8602)
3. 3 [Option ID = 8603]
]

4. 4 [Option ID = 8604

Carrect Answer :-
& 1 [Option ID = 8801]

OTMeTBTE, B KaKHX TIPENIOMKEHHAX BCTPEYACTCA IIPHIOKCHHE.

A
B.

C.
D.

(1)
@

i 4

51, cTaphii OXOTHHK, He pa3 HO4eBal B JIecy.

Y Bepbmoxbeil KOMIOUKH, pacTeHHA MVCTHIHH Kapa-KyMe1, kopeHb OpoOHpaeTcs B IITYOHHEY CYXHX
MeCKOB HA OATHAAATh MeTPOB.

C KpHIIIH 31aHAS HAIPOTHB COPACEIBAIA CHET.

B xommare noMersme Baagmvip IBaHORAY VCTPORT ce0a KaDHHET.

A, Bonly
B, C only

T Al
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A, D only

[Question ID = 2152][Question Description = Q74_Russian_SHAAN_3DEC_51_Shift1]
1. 1 [Option ID = 8605]
2. 2 [Option ID = 8606)
3. 3 [Option ID = 8607]
4. 4 [Option ID = 8608]

Carrect Answer :-
® 1 [Option ID = 8605]

OI'ME!TBTE, B KAKHX COUCTAHHIX BCTPETACTCA CHABHOL YIIPABJACHHS .

A
B.

C.

D.
€y
@)
3
@

DIaromapHTE 3a IOAAPOK
IIOTHBATD IBETHI
0CBOOOIKIICHHE TOpOoTA
CTY9aTh IO CTOMY

A, Bonly

B, C only

C, D only

A, D only

[Question ID = 2153][Question Description = Q75_Russian_SHAAN_3DEC_S1_Shift1]
1. 1 [Optien ID = 8609]
2. 2 [Optien ID = 8610]
3. 3 [Option ID = 8611]
4. 4 [Option ID = 8612]

Correct Answer ;-
* 1 [Option ID = 8609]

76
) OTMeThTe, B KaKHX COYeTAHHAX He BCTPEYaeTCH IIPHMBIKAHHE.

A
B.
C:
D.
(1
(2)
(3
(4

0UeHb XOPOHIHEH

TIPHEIHHA TPHEXATh
THMH TPYAY
OeIHbIH TyXoM

A, B only

B, Conly

C, D only

A, D only

[Question ID = 2154][Question Description = Q76_Russian_SHAAN_3DEC_51_Shift1]
1. 1 [Option ID = 8613]
2. 2 [Option ID = 8614]
3. 3 [Option ID = 8615]
4. 4 [Option ID = 8616]

Correct Answer :-
e 1 [Option ID = 8613]

Toxoe OO Dapy CIIOBOCOYETAHHS M3 CTOIONA «A» H HX BOIPOCH H3 cToabna «bB» | KAKOoH
El

H3 CIIEIVIOMAX PAIOB OTpaskaeT IPABRIBHOE COOTBETCTBHE:

«A» «b»
A. ynaT HaB3HHYb I.  CKoIBKO?
B. cpgeman MHOro II. ¢ KaxEx nop?
C. DU BTpoéM .  xaxwmM obpazom?
D. vy4HCE CMOIOOY IV. B KaKoM KOJIHIeCTBe?
Codes:
Pl ATV RT OATT M TIT

prepp
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ke o

@
3
@

el e N et e ke Ko

AL BI, CII, DIV
A-TI, B-1, C-IV, D-IT
A-L BII, C-IV, D-II

[Question ID = 2155][Question Description = Q77_Russian_SHAAN_3DEC_51_Shift1]
1. 1 [Option ID = 8617]

2. 2 [Option D =
3. 3 [OptionID =

4. 4 [Option ID =

Carrect Answer

8618]
8619]
8620]

e
.

prepp
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» 1 [Option ID = 8617
78)
CoexHmTe rIarob H3 CTONOIA «A» € IPOAYKTHBHBIM KJIaCCOM H3 ¢Toa0Ia «b», K KOTOPOMY HX MOMKHO
OTHECTH.
“A» «b»

A oOeccHIeTh I.  I-# OpOAYKTHBHEIA KIacC
B. HCUesHYTH O II-# npoAyKIHABHBLE KiIace
C. pasopBathb II. II-# opoAyKTHBHBIH KiIacce
D. ropesats IV.  IV-H OpoAyETHBHBIH KIAce

Codes:

(1) A-IV, B-II, C-I, D-II

(2) A-I, B-IV, C-L, D-I0

(3) A B-IV, CIII, D-I

(4) A-IV, B-II, C-IIT, D-I

[Question ID = 2156][Question Description = Q78_Russian_SHAAN_3DEC_S51_Shift1]

1. 1 [Opticn ID =
2. 2 [OptienID =
3. 3 [Optien D =
4, 4 [Option ID =
Correct Answer
s 1 [OptionID =

8621]
8622]
8623]
8624]

8621]

CIIeTyHOIMHX pATOB OTPpAXKAST NPABHIBHOE COOTBETCTBHE:

Codes:

(1)
2
(3)
4

INogdepHTe Do Dapy OpeiokeHHs H3 CTOMONA «A» H HX THII H3 ¢cToi0NA «b» H YKaXHuTe, KakoH H3

wb»

necHeii B Dot XomLTH.

A Jlymd oT BeTpa BpeMeHH He I. OnopegenéHro-THYHOCE HpeLIOKECHHE
B. 31y mecenky mobWIR, ¢ 3TOH II. HeomnpeneneéHHO-IHIHOS

OpesaoKeHHe

OOOHTHCE.

C. Dbe3 rpaMMaTHKH HEKOMY HEIB3S II.

O000mEHHD- ITAYHOe OpeiIoKeHAe

HaM Ipsokd, B30eH mymucTeie
cHera, CNOBHO OyX NeODKHH.

D. Belora cEeXKHaA, mypra, Hanpama | IV.

bezmunoe IpeIoACHHE

AL B-IL, C-1, D-IV
AT, B-IIL, C-IV, DI
A-TIl, B-TT, C-IV, D1

A-TI, B-I, C-IV, D-TII
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[Question ID = 2157][Question Description = Q79_Russian_SHAAN_3DEC_51_Shift1]

1. 1 [Option ID = 8625]
2. 2 [Option ID = 8626]
3. 3 [Option ID = 8627]

4. 4 [Option ID = 8628]

Carrect Answer :-
# 1 [Option ID = 8625]

CTIEAYIONTHX PAZIOB OTPaykaeT MPABHIBHOE COOTBETCTRHE:

IloadeprTe MOA Napy NpeLIOKEHNA H3 CTONOLA «A» H HX THII H3 cTONOUA «B» H YKOKHATE, KAKOH H3

«A»

«b»

A IMlypouka Kpelko 3aKMypHIA

IJ1a3a H [MAJOBIHBO 3aTpACia
TOTOBOH, TAK 9T0 Pa3BHBIIRECH
BOIIOCHI 3ApHIIATH Y Hee Ha I0Y.

ClHokHOOOANMHEHEEHOR
OpemIoKeHHe ¢ MIPHAATOTHLIM
CIIeACTBHA

. TaM, T71e BETPBI CTM3AMHA CHET,

JOMLA TIO HOYAaM I'VIIKO JIOTIACTCA.

CNOKHONOZUHHERHOE
npenokKeHne ¢ IPEXATOUHBIM
MecTa

. Tw1 papa, 9uTo ThI AoMa? CHoKHONMOGUHHEHHOS
MpeaIoKeHHe ¢ IPEAATOUHEIM
BpeMeHH
. Tloka oH magan, OpOKIAThIH CIIOXHONOAIHHEEHOE
AJIeITKA CXBATHI ¢ NOJIOBR] OpeaioKeHHe ¢ IPHAATOUHLIM
Maxapa Manky H CKPBUICH B TalTe. E3bACHATETBHBIM

Codes:

(1) ALBICIV,DIII
2) A-II, B-I, C-III, D-IV
(3) A-1 B-II, C-1I, D-IV
(4 ATV, B-III, C-II, D-I

[Question ID = 2158][Question Description = Q80_Russian_SHAAN_3DEC_51_Shift1]
1. 1 [Option ID = 8629]
2. 2 [Option ID = 8630]
3. 3 [Option ID = 8631]
4. 4 [Option ID = 8632]

Carrect Answer :-

1 [Option ID = 8629]

81
) CoenwHHATe THACHEIE H3 CTONOHKA «A» ¢ HX MeCTOM 00pa3OBAHHA H3 CTONIOHKA «B»:

«A» «B»
A. [H] I. mepezHBi pan, cpeJHHI ITOTBEM
B. [3] O 3agAni pam, cpeIHAH NOXBEM
C. [B]] II.  cpenEHH paA, BRICOKHH IOIBEM
D. [0O] IV.  nepemHuHi psA, BHICOKHH OOXBEM

Codes:

(1) A-TV B-I C-TIT, D-IT

(2) A-IV, B-II, C-II, D-I

(3) A-IV, B-1, C-II, DIII

(4) A1 BIII C-II, D-IV
[Question ID = 2159][Question Description = Q81_Russian_SHAAN_3DEC_S51_Shift1]
. 1 [Option ID = 8633]
. 2 [Dption ID = 8634]

1
2

3. 3 [Option ID = 8635]
4. 4 [Option ID = 8636]
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Carrect Answer :

s 1 [Option ID =

8633]

prepp
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Codes:

1)
(2)
3
(4)

CoeauHHTe pycckue Hpasbl H3 CTONOHKA «AY ¢ HX SKBHBATCHTAMH H3 CTOIORKA «B»!

«A» «b»
A. pBa canora mapa I to miss an opportunify
B. HOepxaThb yXO BOCTPO II.  birds of a feather
C. HaTe Maxy II.  to control one’s temper
D. BaaneTs coboH IV.  to beon one’s guard

A-TI, B-IV, C-I, D-III
A-I B-III, C-1II, D-IV
A-Tl, B-1, C-IM, D-IV

ATV, B-L, CIII, D-II

[Question ID = 2160][Question Description = Q82_Russian_SHAAN_3DEC_51_Shift1]

1. 1 [Option ID =
2. 2 [OptionID =

8637]
8638]

3, 3 [Option ID = 8639]

4. 4 [Option ID =

Carrect Answer :

s 1 [Option ID =

8640]

8637)

Codes:

ey
@
(3
@

CoequHHTe CTOMOHK «A» O CTOIOHKOM «By:

« A «b»
A. Spano I  TloxpoBHTENS CKOTOBOACTBA
B. Ilepyu II. IloBemTenb BeTpa
C. Crpmbor . Bor conEma
D. Moxonb IV.  bor rpoma H MOJIHHH

A-II,B-IV,CI, D-II
A-OI, B-IV, C-II, DI
A-TI, B-T, C-IV, D-1

A-TV, B-T, C-T, D-I

[Question ID = 2161][Question Description = Q83_Russian_SHAAN_3DEC_51_Shift1]

1. 1 [Option ID =
2. 2 [Optien D =
3. 3 [OptienID =

4, 4 [Option ID =

Correct Answer :

e 1 [OptionID =

8641]
8642]
8643]
8644]

8641]

CoeHEHTe HMEeHA TOpPOZIOB H3 CTONOHKA (A% € HX apXHTeKTypaMH H3 cTOnOHKa «B»:
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Codes:

(1)
@)
(3)
©)

[Question ID = 2162][Question Description = Q84_Russian_SHAAN_3DEC_S1_Shift1]
. 1 [Option ID =
2 [Gption ID =
3 [Gption ID =
. 4 [Gption ID =

N O PP N

Correct Answer :-

«A» «b»
A. CMoleHCK I  Coduickuii cobop
B. Kues 0. IlerpomaBiAOBCKHH XpaM
C. Hosropoxn III. VecnesckHi codop
D. Boagamup IV. TeopraesckuH cobop

AT, B-IV, C1, D-III
A-IV, B, C-II, D-II
ATl B-I, C-IV, D-II

A-TV_B-IIT, C-I1, D-I

8645]
8646
8647]
864

prepp
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e 1 [Option ID = 8645]
85) CoenmHuTe CI0BA H3 CTOIOHKA «tA» ¢ HX CTIOCODOM 00pa30BaHEA H3 CTONOHKA «b»:
«A» «b»
A. oTHBIHE I  cydppuxcamus
B. DpeITHVIH II. ppedmrcanmg
C. cobepkacca III. cpamerme
D. yMmanwmeEHBIA IV. abbOpesranmas
Codes:
(1) A-IILB-1IIL C-I, D-IV
(2) A-NI, B-I, C-1I, D-IV
(3) A-Il, B-I, C-IV, D-IIT
4 A-IIT, B-I, C-I, D-IV

[Question ID = 2163][Question Description = Q85_Russian_SHAAN_3DEC_S1_Shift1]

1. 1 [Option ID = 8649]
2. 2 [Option ID = 8650
3. 3 [Option ID = 8651]
4.

Correct Answer :-

4 [Option ID = 8652

e 1 [Option ID = 8649]

CoeqaEHTe KOMIIO3ATOPOB M3 CTONOHKA «A» ¢ BX NPOH3BeICHAAMH H3 CTONOHKA «b»:

«A»

«b»

A. C.TIIpoxopres

1. «Kap-mrHna»

B. M. Mycoprcksi

II. wllosMa KeTazay

P TT AT e e e LB

T T ity Jer b L L L e e S e N Dy




www.prepp.in .repp

Your Personal Exams Guide

o P ™ ‘-r'l.l.c"ﬂﬂmlkmm e o AL LMW LD W LACE N LLAALLLD WY
e/ I0BeKe)
D. A. Cxpabun IV. «XoBaRmmHEaY

Codes:

() AJILBIV,CLDI
(2)  A-IIL B-IV, C-IL DI
(3) AJIV,BII,CI DI

4) A-IV, B-I, C-II, D-III

[Question ID = 2164][Question Description = Q86_Russian_SHAAN_3DEC_S51_Shift1]
1. 1 [Option ID = 8653]
2. 2 [Option ID = 8654]
3. 3 [Option ID = 8655]
4. 4 [Option ID = 8656]

Correct Answer :-
« 1 [Option ID = 8653]

87)
CoenHuHTe MHCATENCHE H3 CTOMOHKA «A» ¢ HX MpoH3BeJeHHAMH H3 CTOTOHKA «by:

«A» «b»
A. B. Actadses I  «TsoxEIs mecop)
B. B. Maxkaxus 0.  «MarepEHCKOE DOIE»
C. A Pribaros M.  «IledaNbHEIE JETEKTHEY
D. Y9 AwWrmMaroB IV. «OpmmEea H ofHEa»

Codes:

(1) AIV,BIO0CIDI
(2)  A-II B-IV, C-IL, D-I
(3)  A-IIL B-IV, C-I, D-II

(4) A IV, B, C1I, D1

[Question ID = 2165][Question Description = Q87_Russian_SHAAN_3DEC_S1_Shift1]
1. 1 [Optien ID = 8657]
2. 2 [Option ID = 8658]
3. 3 [Option ID = 8659]
4. 4 [Option ID = 8660]

Correct Answer ;-

e 1 [Option ID = 8657]

CoenHHHTE HMeHA ABTOPOB H3 CTOIOHKA «A» ¢ HX TBOPISCKHMH HATIPABICHHAMH U3 CTOMOHKA «B»:

«A» «b»
A. B. TpemuaxkoBCKHIH I. PomaHTH3M
B. B. XyxoBckHH O CaMBomrHsMm
C. A Papumes III.  KnaccHnusM
D. B. bprocos IV.  CeHTHMeHTATHIM

Codes:
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(1) A-L B-III, C-IV, D-11
(2) A-NI B-I C-IV. D-II
3 AT B-1, C-II, D-IV
4) AL B-II, C-IV, D-1

[Question ID = 2166][Question Description = Q88_Russian_SHAAN_3DEC_S1_Shift1]
1. 1 [Option ID = 8661)
2. 2 [Option ID = 8662]
3. 3 [Option ID = 8663]
4. 4 [Option ID = 8664]

PacniosoxaTte, B XPOHOIIOIHIECKOM TOPAIKE, CIEIYIOMTHX Imcareiel o rokaM, Korga HM OBLIA

npHcyEaeEa HobeleBckas OpeMHS:
A. HocHud Bpoackuii

B. Amnekcannp ColoxeHHITBIH

C. lisan bynmH

D. Mnxaun llomoxos

E. bopncIlacteprax

() C,E,D,B,A

(2) C,D,E,B,A

(3) A CEB,D

(4) A DBEC

[Question ID = 2167][Question Description = Q89_Russian_SHAAN_3DEC_51_Shift1]
1. 1 [Option ID = 8665]
2. 2 [Option ID = 8666]
3. 3 [Option ID = B667]
4, 4 [Option ID = 8668]

Correct Answer :-
e 1 [Option ID = 8665]

PacOomoxuTe, B XPOHOIOTHYECKOM HOpAAKe, CHeAYIOIMHX COBETCKHX deATelel MO rojaM, KorAa HX
Ka3HEIH/ yORTA:
A Ceprest Kupos

. Jleon Tponoxmit

B
C. Jles KameHes
D. Adsexkcest PRIKOB

(1) B,D,CA
() ACD,B
(3 C,D,BA
(4 D,CB,A

[Question ID = 2168][Question Description = Q90_Russian_SHAAN_3DEC_S1_Shift1]
| 1. 1 [Option ID = 8669]

prepp
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| 2. 2 [Optio
3. 3 [Optio
4. 4 [Optio

n 1D = 8670]
n ID = 8671]
n iD= 8672]

Correct Answer :-

e 1 [Optio

n D = 8669]

prepp
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Pacmonox#Ie, B XpOHOMOTHIECKOM HOPSIIKe, CleyIoINHe APeBHIe TOopojia II0 BeKdM HX OCHOBAHHS:

A
B.
¢
D.
ey
2)
(3)
(4)

Cysnam
Hosropox
Mocksa
Iexos
B.D,AC
D,B,C A
DDA CB
B,ADC

[Question ID = 2169][Question Description = Q91_Russian_SHAAN_3DEC_S1_Shift1]
1. 1 [Optien ID = 8673]
2. 2 [Option ID = 8674]
3. 3 [Option ID = 8675]
4. 4 [Option ID = 8676]

Correct An

swer [-

e 1 [Option ID = 8673]

PacnionoidTe, B XpOHOIOTHYECKOM NOpsAAKe, CIeAYIOIIHE COORITHS PyCCKOH HCTOPHH:

A
B.
C.
D.
@
2
(3)
(4

Bagrae Kazaan
KymkoBckast OHTBa
MoHTroIBECKOe HammecTBHE Ea Pych
CTosmHe Ha peKe Yrpe

C,D,A B

D,CBA

C,B,D A

D,B,AC

[Question ID = 2170][Question Description = Q92_Russian_SHAAN_3DEC_S51_Shift1]
1. 1 [Option ID = 8677]
2. 2 [Option ID = 8678)
3. 3 [Option ID = 8679]
4. 4 [Option ID = 8680]

Carrect Answer :-
s 1 [Option ID = 8677]

Hrtre naHsl IBa BEICKasbiBaHug. OOHO — YTBep:kIeHHe «¥Y», a gpyroe — [Iprramna «II»:

VIBepsKIOeHHS Y

AKMeHCTCKAad 11033434 OTIPaHHISEa OT CHAMBONTHCTHYSCKOH I033HH.

IIprapHa «1Dy:

TTo3THI-aKMEeHCTEI AeTaH YHOp Ha TENeCHOCTh XyA0XKecTBeHHOr0 00pasa.

Ha ocHoEBe BEIICYKA3AHHBIX BEICKA3BIBAHHH, Bmﬁepme CAMEIH TOXOOAINHH OTBET:
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(1) Oba «V» u «(II» BepHsle, H «ID» BepHO 00BACHAET (Y
(2) 0ba «¥» = «II» BepHEIe, HO «I1» HEBEpHO OOBACHEET «¥Y»
(3) «¥» BepHoe, Ho «ID» HeBepHOe

(4) «¥Y» HeBepHoe, HO «II» BepHOE

[Question ID = 2171][Question Description = Q93_Russian_SHAAN_3DEC_S1_Shift1]

1.

1 [Option ID = 8681]

2. 2 [Option ID = 8682]
3. 3 [Option ID = 8683]
4. 4 [Option ID = 8684]

Correct Answer :-
& 1 [Opticn ID = 8681]

94)

Huxe nmanst ABa BbicKaspiBaHud. OaHO HasbIBaeTcd YTBep:xAeHHe «¥», a rapyroe Ilpmdarsa
«lln:

YTBepKIeHHS (Y

BBIPHHCEHHE H«CEMb IIMTHHII HAa HEAEJIEY ABIICTCH @paaeonomqecm SNHHCTBOM.

IIpremiHa «ID»:

,I{HBHDE ERIpAXKEHHe ABIASTCHA CEMAHTHYECKH HeJellHMBIM H IETOCTHBIM. ]:[EJIDCTHEE CeMAHTHEA

JTOTO BBIPAKCHEA ABJEICTCHT MDTPIBH]JGBEHHDﬁ OTAeNIEEBINMH 3HAYSHAIMA COCTABJLTIOIHIX HX CJIOB.

Ha ocHOBe BEIHeYKA3AHHBIX BBICKA3HIBAHHE, BEIOePHTE caMbIH MOMXOISITHH OTBET:
(1) 0ba «V» u «ID» BepHEIe, H «II» BepHO 00BIACHAET «Y»
(2) Oba «¥» # «ID» BepHbIe, Ho «I]» HeBepHO OOBACHIST «Y»
(3) «¥» BepHOe, HO «ID» HeBepHOe

(4) «¥» HeBepHOe, HO «II» BepHOe

[Question ID = 2172][Question Description = Q94_Russian_SHAAN_3DEC_S1_Shift1]

1.

1 [Option ID = 8685]

2. 2 [Option ID = 8686]
3. 3 [Option ID = 8687]
4. 4 [Option ID = 8688]

Correct Answer -
e 1 [Option ID = 8685]

Topic:- Russian_SET1_B

1)

IIpovHTaATe TeKCT B OTBeThIe Ha BOOPOCHL |

HaunHag ¢ aHTHYHOCTH H3YYalHCh H PHTOpHUYECKHE KAHpHI (MpHYeM HOOCHAeAYIOMIHe 5II0XH He MHOTO
NpHOABMIHE K aETHIHOH TeOPHH), 3/1ech e o0pamanock 0ObIIe BHHMAHAS Ha CIOBECHYIO IIPHPOAY STHX
’KAHPOB KaK BBICKA3BIBAHHH, HAa TAKHe, HAIIPHMEP, MOMEHTH!, KAK OTHOIIEHHE K CIYIIATETIO B €70 BIHAHHE
HA BBICKA3bIBAHHE, Ha CICHH(QHISCKYI) CIOBECHYIO 3ABepHIeHHOCTh BBICKASBIBANHA (B OTIHTIHE OT
3AKOHYEHHOCTH MBICIH) H Ap. Ho Bce Xe 37ech cHeNH(HEKAa PHTOPHIECKHX XKAHPOB (CymedHBIX,
NOJATHYECKHEX) 3AC/OHLIA HX ODMENMHIBACTAYECKYIO IIpHpoAy. M3ydammcs, HakoHen, W OBITOBEIE
pedeBble KAHPHI (IpeHMYINECTBEHHO peIUIHMKH OBITOBOTO JHAjJO0ra), H IPHTOM Kak pas ¢
ODIIeTHATBACTAYSCKOH TO4kH 3peHHA (B mEone me Cocciopa, Yy ero HOBEHIIHX IOcTefioBaTeneHd —
CTPYKTYPAINCTOB, ¥ aMepHKAHCKHX OMXeBHOPHCTOB, HA COBEPIICHHO APYIOH JHHTBACTHICCKOH OCHOBE ¥
tdoccaepHannes). Ho 3To H3ydeHHe Taike He MOIIO MPHBECTH K OPABIILHOMY OHOpedclIcHHIO
OOIMeNHATBHCTHYECKOH IIPHEPOJBI BBHICKA3EIBAHHA, TAK KAK OHO OTPAREWYMBANOCH CHeNH(HKOH YCTHOH
OBITOBOH peuH, HHOLAA IIPAMO OPHEHTHPYACH Ha HAPOTHTO NPHMATHBHEBIC BRICKA3BIBAHMA (AMepHKAHCKHE
OHXEBHOPHCTEI).

KpafiHioi0 pasHOPOIHOCTE pPedeBbiX JXAaHPOB H CBS3aHHYIO ¢ 3THM TPYAHOCTH oLpejelleHHs obmei
OPHEPOZB! BEICKA3BIBAHAN HAKAK He ClIeyeT NpeyMeHbaTh, Oco0eEHO BAXKHO OOPaTHTH 3/1eCh BHEMAHHE
HAa OUeHb CYIIeCTBEHHOE pa3fdHe MeXAy HepBHIHBIMH (MPOCTBIMM) H BIOPHUHBIMH (CIOXKHBIMI)
PeueBBIMH JKAHPAMH (3T0 He (QYHKIHOHATbHOe pasnaide). Bropudmsie (CI0XHBIE) PedeBHe XAHDPH —
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poManbl, ApkitMbl, BAYYARIE HCCICHUBANEN BOIRKOIY POdAa, VINIDIINE UYOUIHURCIRMNMECRAY Adnpbl 1 L. —
BO3HHKAIOT B VCIOBHIX bOojiee CIOMKHOTO H OTHOCHTGIBHO BEICOKODA3BHTIOTO H OpPraHH3OBAHHOTO
KVIbTYPHOrO O0OmeHHEs (IpeHMyIMecTBeHHO [HCBMEHHOTO) — XVYJA0XKEeCTBEHHOIO, HAYHOIO,
OOIMEeCTBeHHO—TIONATAYECKOr0 H T.I. B Ipomecce cBoero (opMHpPOBaHAS OHH BOHpaloT B ceba H
HepepadaTBIBAIOT  Pa3NHUHBIE IepBHUHBle (IpOCTBlE) OKAHPEL, CJIOKHBIIHECS B VCIAOBHSX
HeHOCPeICTBEHHOTO peueBOTo OOIMEHHA. JTH NHepBHYHBIE JXAHPHI, BXOAAIMHE B COCTAB CHOKHBIX,
TPaECHOPMEPYIOTCS B HHX H NPHOOpeTaroT ocoOBIH XapaKTep: YIpadHBAIOT HENOCPeACTBEHHOE
OTHOIIEHHE K pealbHOH AHCTBHTENBHOCTH H K PeATHHBIM UYKHM BBICKA3BIBAHHAM; HAOPHMEp, PeILIHKH
OBITOBOTO [HATOTA HIH MHCEMA B pOMaHe, COXpaHAs CcBol GopMy #@ OBITOBOE 3HAYUEHHe TOMBKO B
IUIOCKOCTH COIEpPIKAHEA POMaHa, BXOAAT B PeallbEYI0 NeHCTBATEIbHOCTD JIMIIb Jepe3 POMaH B ero HmelioM,
TO eCTh KaK COOBITHE HTepaTypPHO-XYACKECTBEHHOH, A He OBITOBOH MH3HH. POMAH B €70 eJ0M ABIICTC
BBICKA3BIBAHHEM, KAK M PemmHKH ObITOBOrO AHANOTA HIM 4ACTHOe MHCHMO (OH MMeeT ¢ HHUMH OOIyI0
OpEPOAY), HO B OTIHIHE OT HHX 3TO BRICKA3hIBAHHE BTOPHIHOE (CIIONHOE).

Hrtke JaHBI IBa BEICKASBIBAHHA HA OCHOBE TEKCTA:

L 3&38]3]]1&1‘11‘[0’2’1‘5 BBRICEA3ZBIEAHHA OTITHIACTCA OT 3aKOHYCHIOCTH MBICIIH.

II. PHTOopHYeckHe XaHPH HAYAIH H3y9aThes ¢ 19-0ro Beka.

BribepHETe IPAaBAIBEBI OTBET:

(D
2
(3)
4

O0a BHICKA3bIBAHAS BEPHBL.
(O0a BhICKA3bIBAHASA HeBEPHEL.
ITepBoe BBICKA3BIBAHHE BEPHO, BTOPOS HEBEPHO.

HEPBDE BBICKA3BIBAHHE HEBEPHO, BTOPOEC BEPHO.

[Question ID = 2173][Question Description = Q95_Russian_SHAAN_3DEC_S1_Shift1]

Pt
2. 2
3. 3

4. 4

[Option ID = 8689]
[Option ID = 8690]
[Option ID = 8691]
[Option ID = 8692]

Correct Answer :-
e 1 [Option ID = 8689]

2)

IIpouHTadTe TeKCT B OTBEThIe Ha BOOPOCHL |

HaunHad ¢ AHTHYHOCTH H3YYATHCh H PHTOPHUECKHE KAHpHI (MpHYeM HOCACAVIOMHE SIIOXH He MHOTO
npubABUIH K aHTHYHOH TeOpHH), 3/lech yuite obpamanock 0ONbITe BHHMAHAS Ha CIOBECHYIO MPHPOAY ITHX
XKAHPOB KAK BHICKAIBIBAHHI, HA TAKHAE, HATIPHMEP, MOMEHTH!, KAK OTHOIIEHHE K CAYIIATEIIO B er0 BIHAHHE
Ha BBICKA3bIBAHHE, Ha CHCOE(QHYSCKYI0 CIOBECHYIO 3aBepIIeHHOCTh BBICKA3BIBAHHA (B OTAHYHE OT
3AKOHHEHHOCTH MbiciH) H Ap. Ho Bce XKe 37ech creNH(HKA PHTOPHHMECKHX KAHpPOB (CYAeOHBIL
MONATHYECKEX) 3acHOHEAI4 HX OOMIeIMHIBACTHYECKYO IpHpoAy. Msywammce, HakoHen, H OBITOBEIE
pedeBEle OKAHPH! (NpeMMYINECTBEHHO PelNMKA OBITOBOTO JHAj0Ta), H TIPATOM Kak pas ¢
ODIMeTHHTBHCTHYSCKOH TOYKH 3peHHS (B mkode He Cocciopa, Y e€ro HOBeHNIHX HocleaoBaTeldeH —
CTPYKIVPAIHCTOR, ¥ AMePHKAHCKAX OEXeBHOPHCTOB, HA COBEPIIEHHO APYIOH IHHTBHCTHIECKOH OCHOBE Y
(poccneprannes). Ho 3To H3yueHHe Taioxe HE MOITIO INIPHBECTH K INPABHIBHOMY OHpefelieHHIO
OOIIeTHHTBHCTHYECKOR TIPHPOXDBI BBICKA3BIBAHHA, TAK KAK OHO OTPAHHUYHBATOCH CIHCIHQHKOH ycTHOH
OBITOBOH pedH, HHOTA IIPAMO OPHEHTHPYICH HA HAPOTATO OIPHMATHBHBIE BRICKA3SBIBAHHSA (aMepHKAHCKHE
OHXeBHOPHCTHI).

KpaifHioro pasHOPOZHOCTE PedeBBIX JKAHPOB H CBA3AHHYIO C 3THM TPYZHOCTDH OHpeZeleHHs oOmed
OpHPOAB! BHICKABIBAHHMA HHKAK He ClIefyeT NpeyMeHbInaTh. OcobOeHHO BAKHO OOPATHTH 34eCh BHHMMAHHE
Ha O9eHb CYIIeCTBeHHOe padiMdHe MeXJ[y HepBHYHbIMH (OpPOCTEIMH) H BTOPHYHBIMH (CHOKHBIMH)
pedeBBIMH JKAHPAMH (3T0 He DYHKLHOHAIBHOE pa3IHdHe). BTopHUHEle (C/IOXKHBIE) pedeBEIe JKAHPH —
POMAHBI, ApaMbl, HAYYHBIC HCCHSTOBAHHA BCAKOTO poda, boipime IMyOMHITHCTHISCKHE KAHPBI M T.OIL —
BOSHHKAIOT B YCHOBHAX Oojlee CHOAKHOIO H OTHOCHTRIBHO BBICOKODA3BHTOTO H OpPTaHH3OBAHHOIO
KyJIbTypHOTO o0meHms (IpeHMYMECTBEHHO [HCBMEHHOTO) — XVAOXEeCTBeHHOTO, HAyJHOIO,
ODIMeCcTBeHHO—NOMHTHYECKOro H T.0. B mpomecce cBoero QopmHpoBaHHS OHH BOHpaIOT B cebf H
OepepadathiBalOT  pAa3IMUHble TlepBHuYHBIE  (OpOCThie) KAHPHL, CAOKHBINHECS B  YCIOBHSX
HeNOCpPeJICTBeHHOTO pedeBoro OOMEeHHd. 3TH NepBHYHBIE JKAHpPBL, BXOJMIIHe B COCTAB CJIOXKHEIX,
TPAHCPOPMEPYIOTCS B HHX H HPHODpeTaloT ocoOBIH XapakTep: YIpauHBAalOT HemocpeACTBEHHOE
OTHOMNIeHHe K pealbHoli AeHCTBHTENPHOCTH H K peaTbHbIM WYKHM BbICKA3BIBAHHAM, HAOpHMEp, PeILIHKH
OBITOBOTO MHANOTA HIM IHCHMA B pOMaHe, COXpaHAd CBOK ¢opMy H OBITOBOE 3HA9eHHE TOIBKO B
ILTOCKOCTH COASpPIKAHHT POMAHA, BXOIAT B PealbHyI0 AeHCTBHTEbHOCTE JHIND Jepe3 POMAH B ero HeIoM,
TO ecTh KaK CODBITHe MHTepaTyPHO-XYA0KeCTBEHHOH, a He OBITOBOH XH3HH. POMAH B €T0 IIeJIOM JBIIeTCA
BBICKA3BIBAHHEM, KAK H PeIUMMKH OBITOBOTO JHAJNOTA HIH YacTHOe HOHCHMO (OH HMeeT ¢ HHMH OOIyIO
OPEPOAY), HO B OTJIHIHE OT HHAX 3TO BRICKA3BIBAHHE BTOPHIHOE (CTIONHOE).
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Hirxke naHp! B2 BRICKA3BIBAHAY HA OCHOBE TeKCTa:

L H}TGJ'EHIHCTH‘IECKHE JHAHPS] ABTAIOTCA CIIOAHBIME PEHCBRIME KAHPAMH.

.  IIpocTbie peueBble KaHPb! BXOAAT B COCTAB CIOKHBIX PeYeBBIX XKAHPOB.

BriOepHETe IpaBHIBHEIA OTBET:

(1) {0ba BRICKA3EIBAHAS BEPHBL

(2) (Oba BHICKA3KIBAHMKI HEBEPHEL

(3) ITepboe BbICKa3BIBAHHE BePHO, BTOPOe HEBEPHO.

(4) ITepBoe BHICKA3RIBAHAE HEBEPHO, BTOPOE BEPHO.

[Question ID = 2174][Question Description = Q96_Russian_SHAAN_3DEC_S1_Shift1]

1.

1 [Option ID = 8693]

2. 2 [Option ID = 8694]
3. 3 [Option ID = 8695]
4. 4 [Option ID = 8696]

Correct Answer -
e 1 [Option ID = 8693]

3)

IIpouHTaiTe TeKCT B OTBeThIe Ha BOOPOCHL |

HaynHad ¢ aHTHYHOCTH H3YYaTHCh H PHTOPHYECKHE KAHpHI (MpHYeM HOOCACAVIOMHE SIOXH He MHOTO
npuOABUIH K AHTHYHOH TeOPHH); 3/lech yuie obpamanock 0ONbIle BHHMAHAA Ha CIOBECHYIO MPHPOIY ITHX
XAHPOB KaK BBICKA3BIBAHHH, HA TAKHAE, HATIPHMEDP, MOMEHTH!, KAK OTHOIIEHHE K CYIIATETIO B er0 BIHAHHE
Ha BBICKA3bIBAHHE, Ha CHCHEOHYSCKYI0 CIOBECHYIO 3aBepPIIeHHOCTh BBICKA3BIBAHHA (B OTAHYHE OT
3AKOHUEHHOCTH MbIciIH) H Ap. Ho Bce Xe 37ech cllemH(HKa PHTOPHHUECKHX KAHpPOB (CyaeOHBIL
MONATHYECKEX) 3acHOEAI4 HX OONMIEIHHIBACTHYECKYO IpHpoAy. Msywammce, HaxoHen, HW OBITOBEIE
pedeBEle OKAHPH! (NpeMMYINECTBEHHO pelNMKA OBITOBOTO JHAOTa), H TIPATOM Kak pas ¢
ODINeTHHTBHCTHYECKOH TOUKHM 3peHHMA (B mKone e CoccCiopa, ¥ ero HOBeHININX HocleoBaTeldeH —
CTPYKIVPAIHCTOR, ¥ AMePHKAHCKAX OEXEBHOPHCTOB, HA COBePIIEHHO APYIOH IHHTBHCTHIECKOH OCHOBE Y
(poccneprannes). Ho 3To H3yUeHHe Taioxe HE MOITIO INPHBECTH K NPABHIBHOMY OHpefelieHHIO
ODIISTHHTBHCTHYECKOR TIPHPOMDBI BRICKA3BIBAHHA, TAK KAK OHO OTPAHMUYHBATOCH CHCIHQHKOH ycTHOH
OBITOBOH peqH, HHOTJA IIPAMO OPHEHTHPYSCH HA HAPOTATO OIPHMATHBHBIE BRICKA3SBIBAHHSA (aMepHKAHCKHE
OHXeBHOPHCTHI).

KpaiffHioro pasHOPOZHOCTE pedeBBIX JKAHPOB H CBA3AHHYIO C 3THM TPYZHOCTD OHpeeNeHHs oOmed
OPHPOAB! BRICKA3BIBAHMA HHKAK He CIeAyeT MpeyMeHbInaTh. Oco0eHHO BAKHO OOPATHTH 34eCh BHHMAHHE
HA OYeHb CYINeCTBeHHOe paziHuHe MeXJy [epBHYHBIMH (OPOCTEIMA) H BTOPHYHBIMH (CIOKHBIMHE)
pedUeBBIMH JKAHPAMH (3T0 He DYHKLHOHAIBLHOE pa3iHdHe). BTopHdHEle (C/I0XKHBIE) pedeBBIe JKAHPH —
POMAHBI, ApaMbl, HAYYHBiE HCCISTOBAHHA BCAKOTO poda, Oompille MyDIHITHCTHYICCKHE KAHPHI H T.IL —
BOIHWMKAIOT B YVCHOBHAX Oojiee CIOMKHOIO M OTHOCHTILHO BBICOKODA3BHTOTO M OPraHHM3OBAHHOTO
KyJIbTypHOTO o0meHms (IpeHMYMECTBEHHO [HCBMEHHOTO) — XVAOXECTBeHHOTO, HAyJHOIO,
ObIecTBeHHO—TOMHTHYeCKOro H T.M. B mpomecce cBoero (QopMHpOBAHHA OHH BOHpaloT B cebi H
nepepabaThIBAIOT  pa3IMUHBIE MepBHuYHBIE (OPOCTBlE) JKAHPHI, CHOXKHBIIHECS B  YCIOBHAX
HeNOoCpeJICTBeHHOTO pPedeBoro OOMMEeHHH. 3TH NepBHYHBIE JKAHpPBL, BXOJMIHe B COCTAB CJIOXKHEIX,
TpaHCPOPMEPYIOTCS B HHX H HpHODpeTaloT ocoOBIH XapakTep: VIpauHBAalOT HeHmocpeACTBEHHOE
OTHOMIeHHE K pealbHoll AefiCTRHTeNBHOCTH H K PeATbHBIM UY)KHM BRICKA3HIBAHHAM, HAOpHMEp, PeILIHKH
OBITOBOTO J{HATIOTA MM IHCHMA B poMaHe, COXpaHAA CBOK (opMy H OBITOBOE 3HAYeHHe TOIBKO B
ILTOCKOCTH COCPKAHEA POMAHA, BXOJAT B pealbHyIO AeHCTBATEbHOCTE JHINb Tepe3 POMAH B eTo HelioM,
TO eCTh KaK CODBITHE MHTePaTypPHO-XYACKECTBEHHOH, a He OBITOBOH MH3HH. POMAH B eT0 ITeJIOM SB/IETCA
BBRICEAZBIBAHHEM, KAK H PEILIHXH DBITOBOTO JAHAIIOTA HIH 9YaCTHOe HIHCBMO ('DH HMeeT C HHMH Dﬁ]]I}'ID
OPEPOAY), HO B OTJIHIHE OT HAX 3TO BRICKA3BIBAHHE BTOPHIHOE (CTIONHOE).

Hmke 11261 1BA BRICKA3BIBAHAT HA OCHOBE TeKCTa:
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I.  Permiks ORITOBOTO JHATOTA YIPATHBAIOT CBOIO GOPMY B pOMAaHe.

O Penmeku OHTOBOTO JHANOrA B POMaHE OTPAKAIOT PEAbHYO JeACTBHTENBHOCTh KaK cobbiTHe

OBITOBOH HH3IHH.

BribeprTe IpaBHIBHEIA OTBET:

(1) QDa BHICKA3SIBAHAA BEPHBI.
(2) Oba BRICKAIBIBAHMA HEBEPHEL.
(3) TTepBoe BHICKA3BIBAHHE BEPHO, BTOPOE HEBEPHO.

(4) ITeppoe BEICKA3BIBAHHS ESBEPHO, BTOPOE BepHO.

[Question ID = 2175][Question Description = Q97_Russian_SHAAN_3DEC_S1_Shift1]
1. 1 [Option ID = 8697]
2. 2 [Option ID = B698)
3. 3 [Option ID = 8699)
4. 4 [Option ID = 8700]

Carrect Answer :-

» 1 [Option ID = 8697]

Topic:- Russian_SET1_C

1 ] HPD‘II’IT‘Ef‘lTE TCECT H OTBCTHTC Ha BOIIPOCH .

MB#B1 4acTO BCTIpedaeMca ¢ OPOTHBOIIOCTABIeHHEM eCTeCTBeHHBIX HAaYK, KOTOpBIe CHHMTAIOTCH TOYHBIMH, -
«HETOMHOMY» HMTepaTypoBeAeHHI0. Ha 5TOM IPOTHBONOCTABICHIH OCHOBBIBACTCA NOPOH BCTpedatommeecs
OTHONIEHME K JHTepaTypoBeAeidfio KaKk K HayKe «BTOpPoro copTan. OZHAKO e€CTeCTBEHHBIE H
ODIIeCTBeHHEIe HAYKH BpAl JH CHIBHO PaxIHYAIOICS MEXIY COOOH. B IpHHOMAHANGHOM OTHONICHHAM —
EHYeM. EcE TOBOPHTB O TOM, 9TO I'YMaHHETApHbIe HAYKH OTAHYANTCHS HCTOPHIYHOCTBIO NOAX0JA, TO H B
ecTeCTBeHHBIX HAYKAX ecTh HCTOpHYecKHe HayKd: HeTopHd (riopbi, HeTopHS dayHBL, HCTOPHS CTPOSHHS
3eMHOH KOpBI H mp., H np. KoMIUTeKcHOCTE MaTepHana H3yUeHHS OTIHYACT reorpaduio, okeaHoBegeHHe.
I'yMaHHTApHEIC HAYKH HMEIOT Jel0 [0 MPeHMYHISCTBY CO CTATHCTHYSCKHMHE 3AKOHOMEPHOCTAMH BHEITHe
CIIVIAHHBIX ABJICHUH, AMEIOMAMHA, OTHAKO, O0BeKTHBHBINA XapaKTep, HO ¢ PTHM Ke AMEIOT JefI0 B MHOIHe
IPyTHe HayKH. TaK Xe OTHOCHTelbHbI H BCe APYTHE PAsIHIHg.

IIpH OTCYICTBHH NPHHIMIHANBHBIX PasTHIHi HMeIoTCsA NpaKTHIecKHe pasnwupd. Tak HasblBaeMble
TOYEBIe HAVKE (24 CpeXH HHAX MHOIO COBCEM He «TOUHBIX») ropazmo Oonee dopmamzoBaEpr ( 2
VIIOTPeOIArO 5TO CJIOBO B TOM CMBIC/IE, B KAKOM €0 YIIOTPeO/SioT NpeACTABATE/E TOYHBIX HAVK), B HAX He
CMEINMBAIOT HCCIENOBAHAS ¢ MONyIdpH3anHeH, cooDINeHHs YyXke J0OBITBIX paHee CBeJeHHHA C
YCTAHOBIICHHEM HOBBIX (PaKToB H T.IL

ITpn OTCYICTBHH IIPHHIHOHANHHBIX pa3iHYdH HMEOTCH NpaKTHUYeCKHe pa3liHdhd TaKk HasbIBaeMble
TOUYHBIE HAVKH (a4 CpedH HHX MHOFO COBCEM He «TOWHBIX») ropasgo Ooiee dopMamH3oBaHBI ( £
YIIOTPe OO 3TO C/ICBO B TOM CMBICTE, B KAKOM €r0 YIIOTPeO/IIOT MpecTABHTE/ M TOUHbIX HAYK), B HHX He
CMEIIHBAIOT HCCIeNOBAHHA ¢ MONy/IIpH3anHeiH, cooDINeHHs YKe HOOBITHIX paHee CBeIeHHH
YCTAHOBIIEHAEM HOBBIX (PAKTOB H TIL

I'oBOps 0 TOM, 9TO Y TYMAHHTAPHEIX HAVK HeT MPHHITHIHATLHEIX PAsiIHIHH ¢ TOUHRIMH HayKAMH, f He
HMEI0 B BHAY HEOOXOMHMOCTH MAaTeMATH3AOHE Hameil HaykH. Bompoc o cTemeHH BO3MOXKHOCTH
BHeZpEeHHA B [YMaHHTapHble HaykH MaTeMaTHKH — 3T0 oco0sli Borpoc. 51 HMeE0 B BHAY TONBKO
cllefyIomee; HeT HA OJ{HOH IIyOOKOH MeTOA0NOTHYecKOl 0CO0PHHOCTH B T'YMAEHTAPHBIX HAYKAX, KOTOPOH
B TO HIIH HHOH cTelleHH He 0bL10 OBl H B HEKOTOPBIX HAYKAX HeIYMAHHTAPHBIX.

Huxe ZaHBI ABA BRICKA3SRIBAHHA Ha OCHOBE TeKCTa:
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I  EcrecTBEHHEIE H 0OImEeCcTBeHHEIE HAYKH CHIEHO PA3IEYAIOTCH My coDOH.

. HcropHyeckHe HAYKH KaK HCTOPHA (ophbl H HCTOPHS PayHEl CIHTAIOTCS HAYKAMH BTOPOTo COpTa.

BriOepiTe IPaBRIBHBIE OTBET:

1)
@
3
@

O0a BBICKa3FIBaHAS BEPHEBL
(Oba BRICKA3BIBAHAS HEBEPHBL.
IlepBoe BEICKA3BIBAHHE BEPHO, BTOPOE HEBEPHO.

INeppoe BBICKA3BIBAHHE HEBEPHO, BTOPOE BePHO.

[Question ID = 2176][Question Description = Q98_Russian_SHAAN_3DEC_S1_Shift1]
1. 1 [Option ID = 8701]
2. 2 [Option ID = 8702]
3. 3 [Option ID = 8703]
4. 4 [Option ID = 8704]

Carrect Answer :-
& 1 [Option ID = 8701]

2)

IIpoduTaiTe TeKCT H OTBETETE HA BOMPOCH :

Mz1 gacTo BC’I‘pE‘iaEL[CE C HPDT'EIBGHGCTBBIIEEIBEM eCTeCTECHHBIX IE[&}'IL, KD'IDPI:IE CHHTARKOTCA TOYHRIMH, -
«HETOUHOMY» JAHTepaTypoBefeHHIO. Ha 5TOM IIPOTHBONOCTABISHHH OCHOBBIBACTCA MOPOH BeTpedaoleecs
OTHOIIeHHe K JIHTepaTypoBeleHHI0 KAK K Hayke «BTOporo copTa». OmHaKo ecTecIBeHHBI? H
ODMIeCTBeHHEIE HAVKA BPSA JIH CHIBHO PasIHYAIOTCA MEKAY coboll. B NMpHHIMAHAILHOM OTHOIISHHM —
HHYeM. ECIH TOBOPHTE O TOM, 4T0 I'YMaHHTAPHBIe HAYKH OTAHYAIOTCH HCTOPHYHOCTBIO HOXX0ZA, TO H B
ecTecTBeHHBIX HAYKAX ecTh HCTOPHUSCKHe HAYKH: HCTOPHS (uopbl, BCTOPES (payHBL, HCTOPHA CTPOSHHAN
3eMHOH KOpHL H Op., H 1p. KoMIMeKCcHOCTE MAaTepHANA H3YTIeHHA OTMHMAaeT reorpadHio, oKeaHOBeeHHE.
I'yMaHHTapHbIe HAYVKH HMEIOT Jeil0o 0o OpeHMYHIeCTBY O CTaTHCTHUYeCKHMH 3aKOHOMepPHOCTAMH BHEIHe
CIYIAHHDBIX ABJICHME, HMEIOMHMH, OJHAKO, OOBeKTHBHBIH XapaKTep, HO ¢ STHM ke HMEIOT AefIo ¥ MHOTHe
OpyTHe HayKH. TaK e OTHOCHTeNbHS] B ECe JPVTHe Pa3/mrdHd.

ITp OTCYICTBHH IIPHHIHENHANBHBEIX pasiHYdHd HMEIOTCH NPAKTHUYSCKHe pa3liH9Hd. TaK HasbIBaeMble
TOYHble HAVKH (a2 CpedH HHX MHOFO COBCEM He «TOMHBIX») ropasgo Oodee dopMamu3oBaHbl { £
VIIOTPeOIIfIO 3TO CIIOBO B TOM CMBICTE, B KAKOM €ro YIIOTPeb/IMIOT MpecTABHTE M TOUHBIX HAYK), B HHX He
CMEIIHBAIOT HCCACNOBAHAS C© HONyIApH3amHeH, cooDINeHEs YyKe HJOOBITHIX paHee CBeJeHHMH C©
YCTAHOBJIEHHEM HOBBIX (PaKTOB H TIL

IIpH OTCYICTBHH NpHHIMIMANGHBLIX PasTHIHi HMeloTcd OpaKTHIecKHe pasmmdpd. Tak HasblBaeMble
TOYERIE HAVKE (A4 CpemH HHX MHOIO COBCEM HE «TOYHBIX») ropasgo oonee dopmamuszoBaEs! ( 2
VIIOTPeOAro 5TO CJICBO B TOM CMBICTE, B KAKOM er0 YIOTPeONISIOT NPeACTABETEH TOYHEIX HAYK), B HAX He
CMEINMBAIOT HCCIENOBAHANY C MONyIgpH3anueH, cooDINeHHs yke J0OBITBIX paHee CBeJEHHHA C
VCTaHOBNEHHeM HOBBIX (akTOB H T.1L.

T'oBopg 0 TOM, 9T0 Y TYMAHHTAPHBIX HaVK HET NPHHIOHIHAILHBIX PasiIHIHH ¢ TOYHBIMH HAYKaMH, i He
AMEI0 B BHAY HeOOXOIMMOCTH MAaTeMATH3AOHE Hamled HaykH. Bomnpoc o cTeNeHH BO3MOMKHOCTH
BHeApDEHH:] B [YMAHHTApHBle HAyYKH MaTeMaTHKM — 3TO oOco0sli Bompoc. 51 HMe B BHAY TOIBKO
cliefyiomiee: HeT HH OJIHOH riTyOOKOH MeTOA0TOTHYeCKOH 0cODeHHOCTH B T'YMAHHTAPHBIX HAYKaX, KOTOpoH
B TOH HIIH HHOH CTeIeHH He 05110 OBl H B HEKOTOPEIX HAYKAX HeIYMAHHTAPHBIX.

Hiroxe AaHBI ABa BEICKA3BIBAHMA HAa OCHOBE TEKCTA:

II.

EcTecTBeHHABIE H OﬁE[ECTBEIﬂ!IrIE HAYXH AM2H0T NPEHIHITHAIBHBIS PA3TIHTHA.

HPE.HCTHBFFIE‘JIH SCTCCTECHHEBIX HAYK CHUHTAIOT, UTO SCTECTECHHBIC HAYKH bonee @DPMDBMI

ueM TYMAHHTAPHBIC HAYKH.

BribepHTe NpaBHIbHBIH OTBET:
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(1)
2
3
(4)

O0a BEICKA3BIBAHHS BepPHEL
O0a BEICKa3bIBAHHSA HEBEPHEL
IlepBoe BBICKA3BIBAHHE BEPHO, BTOPOE HEBEPHO.

HEP'BDE BBICKAIBIEAHHE HCBCPIIO, BTOPOC BCPHO.

[Question ID = 2177][Question Description = Q99_Russian_SHAAN_3DEC_51_Shift1]
1. 1 [Option ID = 8705]
2. 2 [Option ID = 8706]
3. 3 [Option ID = 8707)
4. 4 [Option ID = 8708]

Carrect Answer :-
s 1 [Option ID = 8705]

3)

HPD‘IHT‘EITITE TEKCT H OTBETETC HA BOIIPOCEI .

M®1 4acTo BeTpedaeMcs ¢ OPOTHBOIIOCTABIeHHEM eCTeCTBeHHBIX HAYK, KOTOpPBIE CHMTAKTCA TOYHBIMH, -
«HETOUHOMY» JAHTepaTypoBefeHHIO. Ha 5TOM IIPOTHBONOCTABISHHH OCHOBBIBACTCA MOPOk BeTpedaoleecs
OTHOIIeHHe K JHTepaTypoBeleHHI0 KAK K HayKe «BTOporo copTa». OOHAKO eCcTecIBeHHBI? H
ODMIeCTBeHHBIe HAVKA BP4A JIH CHIGHO PavIHYAIOTCS MEKAY coboli. B NpHHIMIHAILHOM OTHOIICHHM —
HHYeM. ECIH TOBOPHTE O TOM, 4T0 I'YMAHHTAPHBIe HAYVKH OTAHYAIOTCH HCTOPHUYHOCTBHIO HOXXO0ZA, TO H B
eCTeCTBeEHEBIX HAYKAX ecTh HCTOPHYeCKHe HAYKH. HCTOPHS (opsl, BHCTOpES (AyHBL, HCTOPHA CTPOSHHN
3eMHOH KODHL H 0p., H 1Ip. KoMIMeKCHOCTE MaTepHAlTa H3YTeEHA OTIUMAaeT reorpadHio, oKeaHOBeeHHe.
I'yMaHHTapHbIe HAYKH HMEIOT Jeilo 0o OpeHMYHIeCTBY O CTaTHCTHUYeCKHMH 3aKOHOMepPHOCTAMH BHeIIHe
CTYHAHHDBIX ABJICHME, HMEIOMMMH, OJHAKO, OOBCKTHBHBIH XapaKTep, HO ¢ STHM ke HMEIOT Jeflo H MHOTHe
OpyTHe HayKH. TaK e OTHOCHTeIbHS] H BECe JPYTHe pas/mrdHd.

ITp OTCYICTBHH IIPHHIENHANBHEIX pasiHYdHd HMEOTCHd NOpPAKTHYSCKHe Pa3llH9Hd. TaK HasblBaeMble
TOYHbIe HAYKH (a2 CpedH HHX MHOTO COBCEM He «TOMHBIX») ropasgo Ooidee dopMamu3oBaHbl ( £
VIIOTPeOIIfIO 3T0 CIIOBO B TOM CMBICTE, B KAKOM €r0 YIIOTPeOIMIOT MpecTABHTEN M TOUHBIX HAVK), B HHX He
CMEIIHBAIOT HCCACNOBAHAS C© HONMyIApH3amHeH, coODINeHER YiKe HJOOBITBHIX paHee CBeJeHHMH o©
YCTAHOBJIEHHEM HOBBIX (PAKTOB H T.II.

IIpH OTCYICTBHH NPHHIMIUMANGHBIX PasTHIHH HMeloTcA NpaKTHIecKHe pasmmapg. Tak HasblBaeMble
TOYERE HAVKE (A4 CpemH HHX MHOIO COBCeM HE «TOYHBIX») ropasgo Oonee dopmamszoBaEsr ( 2
VIIOTPeOIAIo 5TO CJICBO B TOM CMBICTE, B KAKOM €10 YIIOTPeOSIOT NpeACcTABETEH TOYHEIX HAYK), B HAX He
CMEIMHBAIOT HCCIHENOBAHEY ¢ MONyIdpH3IaOueHd, cooDIMeHEs YXe AOOBITBIX paHee CBeeHHNR
VCTaHOBNEHHEeM HOBBIX (akTOB H T.11.

T'oBopg 0 TOM, 9T0 ¥ TYMAHHTAPHBIX HaVK HET NPHHIOHIHAILHBIX PasIHIHH ¢ TOYHBIMH HAYKaMH, i He
AMEI0 B BHAY HeOOXOIMMOCTH MAaTeMATH3AOHE HameHd HaykH. Bonpoc o cTeneHH BO3MOMKHOCTH
BHeApDEHHH B [YMAHHTapHBle HAayKH MaTeMaTHKM — 3T0 Oco0sli Bompoc. 51 HMe B BHAY TOIBKO
Crieflytoniee: HeT HH OJ{HOH riTyOOKOH MeTOA0TOrHYecKoH 0cODeHHOCTH B I'YMAaHHTAPHBIX HAYKaX, KOTOpoH
B TOH HIIH HHOH CTelleHH He 05110 ObI H B HEKOTOPEIX HAYKAX HeIYMAHHTAPHBIX.

Hitxe maHbl ABa BBICKA3EIBAHHA HA OCHORe TEKCTa:

L EcTecTBeHHEIC HAaVKH ABTAOTCA HETOYHLIMH HaYKaAMH.

I. CmyuaiiHble SBTeHHs B TYMAHHTAPHBIX HAYKAaX HOCAT CYOBEKTHBHBIH XapaKTep.

BribepHTe IpaBHIBHBIH OTBET:

(1
(2)

Fir i

O0a BRICKA3BIBAHHA BEPHBL.

(O0a BHICKA3HIBAHNA HEBEPHE],

T Tasim s T TAT AT Tras T T T i T e T e
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(4) ITepBoe BHICKA3BIBAHHE HEBEPHO, BTOPOE BEPHO.

[Question ID = 2178][Question Description = Q100_Russian_SHAAN_3DEC_S1_5hift1]
1. 1 [Option ID = 8709]
2. 2 [Option ID = 8710
3. 3 [Option ID = 8711]
4. 4 [Option ID = 8712
Correct Answer :-

e 1 [Option ID = 8709]

Topic:- 03rd_Set7_A

1) The following Table-I shows the Sales and Earnings of ABC Corporation in the last
eight years from 2013-2020. and Table-II shows the percentage of Sales in four
different categories 1n the vear 2020. Based on the data in the tables. answer the

guestions :
Table — I : Year—wise Sales and Earmngs
Vear | . Sales _ Eami‘r}ga}
(in Rs. Billion) | (in Rs. Million)
2013 3 500
2014 6 900
2015 8 200
2016 7 400
2017 5 700
2018 9 800
2019 8 700
2020 10 600

Table — I1 : Categorv-wise sales in the vear 2020

Category Percentage (%) of Sales

Computers 25%
TVs 20%
Smartphones 40%
Miscellaneous 15%

What is the average (in ¥ billions) of the sales of ABC Corporation for the period 2013-20207?
(1) 8.5 (2) 6.0

@ 7.0 @ 8.0
9 & T qiler TEALE, FURER F a9 2013-2020 F W o8 T A ol o o™ H S £ aen

aifer I 79 2020 TR % Wi 1 =1 ST -3Te S0l § g9l 2 | aifcrnl § &0 T 376S! 5 28R
9T WY T I gt

A — 1 : a9ar fesg @ 3

- Tersht A
(=. fater=m) | (3. faferm)
2013 3 500
2014 6 a00
2015 8 200
2016 £ 400
2017 5 700
2018 9 300
2019 3 700
2020 10 600

arterest — II ; Zofind, =9 2020 7 fawa

Tt | fEh F giowaa (%)
FEA 25%
A 20%
T B 40%
B 15%

RN SRR AR R U VRN NSELS o WP . S IR i UMM . RPN - SRS, AR 1 RIS . U i LT . WP (NS UM . f. SHNL. L S 1Y
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(I 5.5 (2) 6.0
3 70 4y 8.0

[Question ID = 2579][Question Description = Q01_GP_24N0V_S51_SHAAN_Shift1]
1. 1 [Option ID = 10313]

2. 2 [Option ID = 10314]

3. 3 [Option ID = 10315]

4, 4 [Option ID = 10316]

Correct Answer ;-

e 1 [Option ID = 10313]

2) The following Table-I shows the Sales and Earnings of ABC Corporation in the last
eight years from 2013-2020, and Table-II shows the percentage of Sales in four
different categories 1n the vear 2020. Based on the data in the tables. answer the

guestions :
Table — I : Year—wise Sales and Earnings
Year | . Sales _ Earnir}ga_;
(in Rs. Billion) | (in Rs. Million)
2013 3 500
2014 6 900
2015 8 200
2016 T 400
2017 5 700
2018 9 800
2019 8 700
2020 10 600

Table — I1 : Categorv-wise sales in the vear 2020

Category Percentage (%) of Sales

Computers 25%
TVs 20%
Smartphones 40%
Miscellaneous 15%

For which vear was the percentage (%) increase in earnings from the previous year highest?
(1) 2014 (2y 2015

(3) 2016 (4 2017

= & T aierR TELE. FEEE F a9 2013-2020 % fm o s f o o ot # g 2 e

Ao I 99 2020 R % yiawrd = =1 ST —3Tem SEl # gai 2 | 9o 7 170 70 37T68T 3 379N
U UgH T I G

A — 1 : adar fesg wa 3

o3 Terht A
(x. faferaq) | (5. fafemm)
2013 3 500
2014 6 900
2015 8 200
2016 7 400
2017 5 700
2018 g 800
2019 8 700
2020 10 600
arterast — I1 ; Zofind, =9 2020 ° fawa
Tt | feh ) aiowaan (%)
HEA 25%
2.4 20%
e e 40%
= 15%

e ad % T A < geE A i (%) T i o7
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(1) 2014 (2)

(3 2016 @)

[Question ID = 2580][Question Description = Q02_GP_24NOV_S1_SHAAN_Shift1]

1. 1 [Option ID = 10317]
2. 2 [Option ID = 10318
3. 3 [Option ID = 10319]
4. 4 [Option ID = 10320
Correct Answer ;-
e 1 [Opticn ID = 10317]

2015

2017

prepp
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3) The following Table-I shows the Sales and Earnings of ABC Corporation in the last
eight years from 2013-2020, and Table-II shows the percentage of Sales in four
different categories 1n the vear 2020. Based on the data in the tables. answer the

guestions :
Table — I : Year—wise Sales and Earnings
Year | . Sales _ Earnir}ga_;
(in Rs. Billion) | (in Rs. Million)
2013 3 500
2014 6 900
2015 8 200
2016 T 400
2017 5 700
2018 9 800
2019 8 700
2020 10 600

Table — I1 : Categorv-wise sales in the vear 2020

Category Percentage (%) of Sales

Computers 25%
TVs 20%
Smartphones 40%
Miscellaneous 15%
What was the ratio of earnings to sales in 20157
1 25:1 © 1:4
3 1:25 4 1:40

= & 7 T TALE. FEieE F a9 2013-2020 % TR oS 91 1 BEhl o o7 B Ul R AW
atfers I 39 2020 T3l % Tiaerd = =1 STem—3Tem Sl # g0 2 | aiers 7 120 70 37687 3 379N

9T WY T I gt

A — 1 : a9ar fssg @ 3

- Tershl A
(=. faferaq) | (5. fafemm)
2013 3 500
2014 6 900
2015 8 200
2016 7 400
2017 5 700
2018 9 800
2019 8 7100
2020 10 600

arterest — II ; Zofind, =9 2020 7 fawa

Tt | fEh F giowaa (%)

FE 25%
A 20%
R 0%
e 15%

% 2015 o 31 au frht % ofi= = st =

Pl Y [ B | Faa LY
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(3) 1:25 (40 1:40

[Question ID = 2581][Question Description = Q03_GP_24NOV_51_SHAAN_Shift1]
1. 1 [Option ID = 10321]
2. 2 [Option ID = 10322
3. 3 [Option ID = 10323]
4. 4 [Option ID = 10324
Correct Answer ;-

e 1 [Option ID = 10321]

4) The following Table-I shows the Sales and Earnings of ABC Corporation in the last
eight years from 2013-2020, and Table-II shows the percentage of Sales in four
different categories 1n the vear 2020. Based on the data in the tables. answer the

guestions :
Table — I : Year—wise Sales and Earmings
Sales Earnings
Year (in Rs. Pillion) | {in Rs. Ek-‘ﬁﬁic-n)
2013 3 500
2014 6 900
2015 8 200
2016 7 400
2017 5 700
2018 9 800
2019 8 700
2020 10 600

Table — I1 : Categoryv-wise sales in the vear 2020

Category Percentage (%) of Sales

Computers 25%
TVs 20%
Smartphones 40%
Miscellaneous 15%

Which of the following statements can be deduced from the data given in the Tables I and II?
(A) Sales of Smartphones in the vear 2020 exceeded total sales in the vear 2013.

(B)  Earnings for the vear in which earnings were highest were more than the sales for the
vear in which sales were lowest.

(C) If in the year 2020. the sales of Smartphones had been 10% less, and the sale of
Computers had been 10% higher, then the sales of Smartphones would have been less
than the sales of Computers.

Choose the correct answer from the options given below :
(1) (Aonly (2) (A) and (B) only
(3) (A) and (C) only (4) (C) only

& T oo oS, Feem % aF 2013-2020 F G o At i fEh of o 3 it ®
aiferst I1 a9 2020 Teshl % lawrd 1 =W 3Tor—37em S § gorrdy 2 | atfersl § f2u 7T a7sl % 78R
9T g 1 S G

ATl — I ; avar fased tg 5=

. =t ]
= (z. faremm) | (3. fafemm)
2013 3 500
2014 6 900
2015 8 200
2016 7 400
2017 D 700
2018 9 800
2019 8 700
2020 10 600

et — 11 : 2ofima, =9 2020 # &3

I PO |
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il T F1 TIaeiddl (%)
HEA 256%
J1.4t. 20%
R A 40%
¥4 15%

Frefafiga d 9 #9 o/a sy aifers I ok 11 fau o atfeel % otar w Fmifia feen smoasar 27

(A) =¥ 2020 ¥ 3E TERE Fi oA, 2013 F T i F orfies o |

(B) TEiU®S TF awct 99 § 55 A ~an b Tt 99 9 53 Buh @ sttt off |
(C) IR a¥ 2020 © wyrdw 6 skl 10 sfor =0 gt 2t it Foge B R 10 wfawg afes g

a9 Hogel I Rl 1 ga °§ weeE 1 ekl e g

= fou o fermegt o o T SR =1 == <hifae

1)  FFA(A)
(8)  =aw (A) IR (C)

[Question ID = 2582][Question Description = Q04_GP_24NOV_S1_SHAAN_Shift1]

1. 1 [Option ID = 10325]
2. 2 [Option ID = 10326
3. 3 [Option ID = 10327]
4. 4 [Option ID = 10328
Correct Answer ;-
e 1 [Opticn ID = 10325]

©2) Fa (A) 3K (B)
@) =a (C)

prepp
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3) The following Table-I shows the Sales and Earnings of ABC Corporation in the last
eight years from 2013-2020, and Table-II shows the percentage of Sales in four
different categories 1n the vear 2020. Based on the data in the tables. answer the

guestions :
Table — I : Year—wise Sales and Earmings
Sales Earnings
Year (in Rs. Pillion) | {in Rs. Ek-‘ﬁﬁic-n)
2013 3 500
2014 6 900
2015 8 200
2016 7 400
2017 5 700
2018 9 800
2019 8 700
2020 10 600

Table — I1 : Categoryv-wise sales in the vear 2020

Category Percentage (%) of Sales

Computers 25%
TVs 20%
Smartphones 40%
Miscellaneous 15%

What is the sum total (in T millions) of the earnings of ABC Corporation for the period
2013-2019?

(1) 4800 (2) 4200
&) 4000 4 5000

& T oo oA, FHeE % 9T 2013-2020 % S o At i fEf oft oma w1 i
aiferst I1 a9 2020 Teshl % iawrd & =W ST —7em Ao § gurrd 2 | anfersl § {28 7T s77#s] % H718R
UL U5 W S G

Al — I : auar fasa g 3

N

Targht A
T (= ffrm) | (s fafem)

2013 3 500
2014 6 900
2015 8 200
2016 7 400
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2017 o fOU
2018 9 800
2019 ) 700
2020 10 600
et — 11 : 2ofima, =9 2020 # &
Tt | fEh i afeEa (%)
HEA 256%
214, 20%
T T 40%
= 15%

o 2013-2019 i sty % form vt . ok 6 o = 3w Tee (v e §) Fnd?

(1) 4800 (2) 4200
(3) 4000 (4) 5000

[Question ID = 2583][Question Description = Q05_GP_24NOV_51_SHAAN_Shift1]
1. 1 [Option ID = 10329]

2. 2 [Option ID = 10330]

3. 3 [Option ID = 10331]

4. 4 [Option ID = 10332]

Carrect Answer :-

e 1 [Option ID = 10329]

Topic:- 03rd_Set7_B

L Which of the following level of teaching lays stress on critical sifting of ideas at the highest
cognitive level?

(1) Memory level (2) Understanding level

(3) Reflective level (4) Autonomous development level
frafafgs § & Wew F FH W R StHan ATEES TR T R F e guHiEne T S
o R Y
(1) T = T (2)  SETEET B R
(3) Tl faow = (4) =T TEHE R

[Question ID = 2584][Question Description = Q06_GP_24NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 10333]
2. 2 [Option ID = 10334]
3. 3 [Option ID = 10335]
4. 4 [Option ID = 10336
Correct Answer ;-

e 1 [Opticn ID = 10333]

Which of the following are the highest taxonomic categories in the cogntive, affective and
psychomotor domains of learning?

(A)  Analysis
(B) Evaluation
(C) Awareness

(D)  Characterization
(E) Naturalization

Choose the correct answer from the options given below :
1)  (A). (B) and (C) only (2) (®), (D) and (E) only
(3  (B).(C)and (D) only @ (C). (D) and (E) only
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(4)
(B)
©)
)
(E)

Hi= 1 v feerel d @ w6 SR = =99 i

(1)
(3)

FftereuE
ECicay|

FAA(A), (B) 3R (C)
A (B), (C) 37 (D)

(2 wad (B), (D) ¥R (E)
@) Fa (O), (D) 7R (E)

[Question ID = 2585][Question Description = Q07_GP_24NOV_51_SHAAN_Shift1]
. 1 [Option ID = 10337]
. 2 [Option ID = 10338]
. 3 [Option ID = 10339]
. 4 [Option ID = 10340]

1
2
3
4

Carrect Answer :-
& 1 [Option ID = 10337]

Match List I with Last II
ListI List IT
Helping behavior of effective teaching Description
(A) Using student 1deas of contributions (). = Warm and nurturing relationship with
learners
(B) Structuring (I} Teacher statements fo encourage
students to elaborate on an answer
(C) Probing (ITIT) Teacher comments for the purpose of
organizing what is to come
(D) Teacher affect (IV) Taking a student's response and
repeating or applying it
Choose the correct answer from the options given below :
(D (A)-(IV), (B)-(I1D), (C)-dD, (D)-(D)
(2) (A)-(D), (B)-(ID, (C)-II), (D)-(IV)
(3) (A)'(ID!« {B)'{I}s (C)'(I‘U)U {D)'(IID
€Y (A)-(III), B)-AV), (C)-D). D)-AD)
g=ii-I % = geii-11 =1 e it -
T TH-IT
(&) Taetar % aremEi = TR = SseEm ()  TRETeRalet % T WG U9 STeir ded
(B) et D) 3 =i foega = = T, It = et
F 2 s F FYA
(C) <Ar=-ggd (II) guifad =1 s9aR i % 3899 § 1S9
i RPafomE
(D) IFEAEE U9

o fed u fament § |/ wEl Su @ 91T i

(1)
(2)
(3)

(&)-(IV), (B)-(IID). (C)-(I), (D)-(I)
(&)-(D. (B)-(I). (C)-(IID). (D)-AV)
(A)-(ID), B)-(D). (C)-(IV). (D)-ID)

ST

b
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(4)  (A)-D). (B)-(IV). (C)-(D). (D)D)

[Question ID = 2586][Question Description = Q08_GP_24N0V_S51_SHAAN_Shift1]
1. 1 [Option ID = 10341]

2. 2 [Option ID = 10342]

3. 3 [Option ID = 10343]

4, 4 [Option ID = 10344]

Correct Answer ;-

e 1 [Option ID = 10341]

Given below are two statements :

Statement I: In norm-referenced testing of students. test data helps us determine a

students place or rank.

Statement II: In Criterion-referenced testing, the test data tells us about a student’s level

of proficiency.

In the light of the above statements. choose the correct answer from the options given below :
(1) Both Statement I and Statement IT are true
(2) Both Statement I and Statement IT are false
(3) Statement I is true but Statement II 1s false

(4) Statement I 15 false but Statement II 1s true

frel g1 oA fog 1w 2

Fod () :  TaentEEt % e acida e |, wham ares Trmfl % ww  2ofi =i Feifa w6 9 el

WEEA] T 2 |

wod (ID) :  Fre-ggisa olem o, adieur-a1tes v 3w $ o = w2 = sa@ 2 |
IR YT F AT H, = e T fomew ® ¥ @@t s wAd Fifew -
1) FEIARIIGTHI=E )

(2) #wHIANIIEAETIIE |

(8)  wYA L uew 2, Al e[ 11 o/aed 2 |

(4 w9 I E, S weE I a2

[Question ID = 2587][Question Description = Q09_GP_24N0V_51_SHAAN_Shift1]
1. 1 [Option ID = 10345]
2. 2 [Option ID = 10346]
3. 3 [Option ID = 10347]
4, 4 [Option ID = 10348]

Correct Answer :-
e 1 [Option ID = 10345]

Given below are two statements : One 1s labelled as Assertion (A) and the other is labelled as
Reason (R) :

Assertion (A): Modern and ICT based teaching support requires some technical

knowledge on the nart of the teacher and learner.

prepp

Your Personal Exams Guide



www.prepp.in .repp

Your Personal Exams Guide

Reasons (R) : Both teachers and learners have to be provided orientation in use of the
various support tools and techniques in an intelligent way.

In the light of the above statements, choose the most appropriate answer from the options
given below :

(1) Both (A) and (R) are frue and (R) is the correct explanation of (A)

2) Both (A) and (R) are true but (R) 18 NOT the correct explanation of (A)
(3)  (A)is true but (R) is false

(4) (A) 1s false but (R) is frue

Ay £ ;

A 71 Y faw 7w § v SATiEEA (Assertion A) % ®Y W faRad 2 a1 gO 3w FR0T (Reason R) %

Eqﬁ
afirem (A) gl it AW .F. smafa frem w=ma # fom e iR sRemedl % TR W
FB qIehl T I FEvIRaT STifé 2 |

FR0 (R) : forers o stitrmrsatett @ % fAfy TErmEs SUSN AU g F UWEER] 20§
T T 7 ATGg T @

SR FY F I 4, - 2 T e A § oo SUgRE ST S 99 i

() (AR ®) 3 T3 2 3R R), (A) F 78 = 2
(20  (A) 3R ®) I 9 £ @R (R), (A) F TE SRS T2 2 |
(3 (AT &l R) 5w R

(4 (A) 275 2 i (R) 99 21

[Question ID = 2588][Question Description = Q10_GP_24NOV_51_SHAAN_Shift1]
1. 1 [Option ID = 10349]

2. 2 [Option ID = 10350]

3. 3 [Option ID = 10351]

4, 4 [Option ID = 10352]

Correct Answer :-

» 1 [Option ID = 10349]

6) Which of the following is an example of gualitative research?

(1) Experimental research (2) Ex post facto research

{(3) Descriptive survey research (4) Grounded theory research

frfefaa ¥ @ = @1 e w1y U SEEm A7

(1)  w=meas My (2) AR WY
(8)  fereomen= waL wia (4) smies faguiaues iy

[Question ID = 2589][Question Description = Q11_GP_24N0V_51_SHAAN_Shift1]
1. 1 [Option ID = 10353]

2. 2 [Option ID = 10354]

3. 3 [Option ID = 10355]

4, 4 [Option ID = 10356]

Correct Answer :-

a 1 [Option ID = 10353]

7)  Identify from the list below the threats to internal validity of research.
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(&)
B)
(€)
(D)
(E)

Interaction of selection and independent variable (X)
Statistical regression

Interaction of pretesting and X

Differential selection of subjects

Experimental mortality

Choose the correct answer from the options given below :

(1
3)

{B). (D) and (E) only (2) (A, (B) and (C) only
(B). (C) and (D) only 4) (C). (D) and (E) only

f2 & 1 et F & vgEw Hifore 5 e A swafes daer F o we S w27

(&)
B)
(C)
D)
(E)

T il TG IR T =W (X)
Tt i srtem 9 X
i = sl =

it e

Hi= feu o fawedl 9 4 g 3o ] 999 il

(1)

(3)

Faet (B). (D) 37 (E) (2) Faet (A). (B) 3 (C)

F94 (B). (C) 3 (D) (4) Fa« (C). (D) 3R (E)

[Question ID = 2590][Question Description = Q12_GP_24NOV_51_SHAAN_Shift1]
1. 1 [Option ID = 10357]
2. 2 [Option ID = 10358]
3, 3 [Option ID = 10359]

4. 4 [Option ID = 10360]

Correct Answer :-

» 1 [Option ID = 10357]

8 Match List I with List IT
Tast I Tast 11
Research Steps Characterisiics
(A) Research problem definition (I) Appropriateness of techniques and
their application
(B) Formulation of research hypothesis (II) Development of a concepiual
framework which is in accord wath
hypothesis of research
(C) Design of research (III}) Defining the variables to be related in
unambiguous terms
(D) Data Analysis (IV) Academic and social value of the
research guestion to be weighed
Choose the correct answer from the options given below :
(1 (A)-(1ID), (B)-(IV), (C)-@), D)-dD)
(2) (A)-(IV), (B)-11). (C)-AD. (D)-(D
(3) (A)_(D- (B)_(II)r (C)_(III)s (D)_m?)
(4) (A)-(ID), (B)-(D), (C)-AV), (D)-1I)
gH1-1% Wy G-I 1 e i

Lil eI

S . W s e S

prepp

Your Personal Exams Guide



www.prepp.in .repp

Your Personal Exams Guide

(A) iy FEE ) T @ A A e st 3% s

(B) INY TERCIAT 1 G D) UF FSGUTHS @i $1 5@ S e
TFEeTHT & 359 2 |

(C) =My 1 T=Y (III) = =l GHE Iegraet! § Ty 5 |

(D) = fazemo (IV) =9 W % SRR AT At gea
e |

At e 7 {amreal § O 9 39t # =Ed il

(1) (A)-0D). (B)-(IV). (C)-(D). (D)-(I)

(2) (A)-(IV). (B)-(11). (C)-1I). (D)-(D)

3 A-D. B)-dD. (O)-II). (D)-AV)

(4) (A)-(ID). (B)-(L), (C)-(IV). (D)-(11D)
[Question ID = 2591][Question Description = Q13_GP_24NOV_51_SHAAN_Shift1]
1, 1 [Option ID = 10361]

2. 2 [Option ID = 10362]
3. 3 [Option ID = 10363]

Carrect Answer :-
& 1 [Option ID = 10361]

Given below are two statements :

Statement I: Scientific research 1s systematic, controlled, empirical and critical

investigation of hypothetical propositions.

Statement II: Population of research need not be defined in gqualitative and guantitative

researches.

In the hght of the above statements, choose the correct answer from the options given below :
(1) Both Statement I and Statement II are true
(2) Both Statement I and Statement IT are false
(3) Statement I is true but Statement II is false

(4) Statement I 1s false but Statement II is true

#H & g ffu T 2 -

Fo (I): Sl MY TeRescas TeaE B saaierd, FEfE, svaeE STt SATeiereas ST 2 |

FU (D) : TOTRHS HR WS YT H AL F TN H A F F TEaEwmar T g |

ST T F e §, A v e et 8§ 99 I W 9 Fibw

(1) =wwEIsOzsiasd)
(2) = IsTR I 3A o/rca 8 |

(3) =Y IHed B, @Ay I 319 2 |
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(4) w1 B, i w99 I 5 21

[Question ID = 2592][Question Description = Q14_GP_24N0V_51_SHAAN_Shift1]
1. 1 [Optien ID = 10365]

2. 2 [Option ID = 10366]

3. 3 [Option ID = 10367]

4. 4 [Option ID = 10368]

Carrect Answer :-

e 1 [Option ID = 10365]

Given below are two statements : One 1s labelled as Assertion (A) and the other is labelled as
Reason (R) :

Assertion (A):  Actual settings are the direct source of data and the researcher is the key

Instrument in qualitative research.

Reasons (R) : The purpose underlying qualitative researches 1s relatively more directed

at depiction of reality rather than arriving at context free generalizations.

In the light of the above statements, choose the most appropriate answer from the options

given below :

(1) Both (A) and (R) are irue and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true but (R) 1s NOT the correct explanation of (A)
(3) (A) 1s frue but (R) 1s false

(4 (A) is false but (R) is true

= 2 o e e § ;o fieevE (Assertion A) % &9 # forfiad € @ guu 3@ @rwr (Reason R)

Eqﬁ

aAfiERaE (A) AT T TS % UeTe Wi & 3N JIerRd] oTc TE =T TT SUH 2 |

[ (R) ; TOIEAsR TN ol SUTT HedHdd WHRIIHOT & Tae b Sl ateeRal i ST

=9 F AUF U9 =9 ° b w6 2 |

SRIAE FYF 37 4, e 9 T e @ s I9geh ST W T Shis

() (A 3k ®) 341 w8t 2 38t R), (A) $ @& =en 2|
(2)  (A) 31 (R) g1 wex 2 SR (R), (A) i wdt wamen 5 2 |
(3  (A)wH 2, oifeT R) 38 21

@ (A ¥E @ (R) T 2|

[Question ID = 2593][Question Description = Q15_GP_24N0OV_51_SHAAN_Shift1]
1. 1 [Option ID = 10369]

2. 2 [Option ID = 10370]

3. 3 [Option ID = 10371]

4. 4 [Option ID = 10372]

Carrect Answer :-

e 1 [Option ID = 10369]

1) o o ; .
In describing elements of commumnication, a person or an event which provides verbal or
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norn-verhal use Lo which someone Can respend 18 KNowTl as,

(1) Message (2) Source
(3) Channel (4) Communication context

TUSOT % Tcdl % 9o H, TF SAad o1l TH-TeA gl Sig® A1 TS e I9ed FO o ™
et % g wftem & S a2, a2 -
1 G @) &
(B  aEd (=) (4) Tuwr TeH
[Question ID = 2594][Question Description = Q16_GP_24NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 10373]
2. 2 [Option ID = 10374]

3. 3 [Option ID = 10375]
4. 4 [Option ID = 10376]

Carrect Answer :-
& 1 [Option ID = 10373]

Given below are two statements : One 1s labelled as Assertion (A) and the other is labelled as
Reason (R) :

Assertion (A): Agenda building is a collective communication process in which media,
govermment and the citizenry reciprocally influence one another.

Reasons (R) : Agenda building presumes cognitive effects and inactive audience with less
socletal-level effects.

In the hght of the above statements, choose the most appropriate answer from the options
given below :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true but (R) 1s NOT the correct explanation of (A)
(3) (A) is true but (R) i1s false

(4) (A) is false but (R) 1s true

T 21 e B U 2 ¢ U AR (Assertion A) % B ¥ faRaa 2 a1 @0 3w FRW (Reason R) %
=g 7

STTHHA (A) FH T T T At quee H-Tem 2 S Jifsa R S TR TR
T GOL TG B 3 |

F1 (R) Frge] AATHH THTE I AT A ) 9 FHETH T aret e 2 |

IYUTH YA & AT H, 4 1Y U feeredl § ¥ WEl IH B oA Rl

D) (A) I R)TH T § SR R). (A) Fi T =mE;m 2|

@ (A ®) I T E @t ®), Q) F T e T 2
(3)  (A) T T W (R) T80T 2 |

@ (A ¥HE 3 S (R) 97 2

[Question ID = 2595][Question Description = Q17_GP_24NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 10377]
2. 2 [Option ID = 10378]
3. 3 [Option ID = 10379]
4. 4 [Option ID = 10380]

Carrect Answer :-
& 1 [Option ID = 10377]

13)

(Given below are two statements :

Statement I: The art of Mass Communication is much more simple than of face to face

communication or any type of communication.

P - - . — - - -
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we communicate with others.

In the light of the above statements, choose the most appropriate answer from the options
given below :

(1) Both Statement I and Statement II are correct

(2) Both Statement I and Statement II are incorrect

(3) Statement I is correct but Statement II is incorrect

(4) Statement I is incorrect but Statement II is correct

o g R Rg e E

Fom () : TFEER T TERTE TN SR o Rl TR F wwe i swen it wme 2

FoR (I0): 4 59 3@ % WY TU99 Fd 3 599 § U9 3S (32, @i o ) 9 2T (T9%1 31K %)

O &
=T YHEF ldl 7 |

IUIE B H I §, A9 G0 T Geeen § O wE I S 9 Fiew
1 HFEIRIIIA T

() R IAR I =@ 2 |

(3  w IWR 2, o wuw I em 3 |

(4 FWITade, afF s T 2|

[Question ID = 2596][Question Description = Q18_GP_24NOV_S%1_SHAAN_Shift1]
1, 1 [Option ID = 10381]
2. 2 [Option ID = 10382]
3. 3 [Option ID = 10383]
4, 4 [Option ID = 10384]

Carrect Answer :-
& 1 [Option ID = 10381]

Feedback reflects the reactions of the audience when :

(A)  One knows the effects of communication.
(B) One knows the quality of content of the message.
(C)  One knows the future prospect of the object of communication.

(D)  One knows the financial implications of the communication.

Choose the most appropriate answer from the options given below :

L A @) D) only @) (B (D). (C)only
(3) (A (C). D) only 9 (A, (B). (C)only

gafavA (Freas) a6 wfaten = gt 2
(A)  =PIT HUYYY h WHIE Bl AT B

(B) [ Wew % Taumang =i TERT F AT 2

e -~ n ~ ~ R A



www.prepp.in

prepp

Your Personal Exams Guide
(L) % HMHYI h ﬂ{-g =h Hid" ) HHi<dA 1A Rl FAl-Hdl &

(D)  rs WA % i Ffgar i s 2 |

4= fZu T forredl § O HE SUEET SR S99 I

(1)  F& (A), (B). @) @ Faa (B), (D). (C)
(3)  FFa (A). (C). (D) (4) Had (A). (B). (C)

[Question ID = 2597][Question Description = Q19_GP_24NOV_51_SHAAN_Shift1]
1. 1 [Option ID = 10385]

2. 2 [Option ID = 10386]

3. 3 [Option ID = 10387]

4. 4 [Option ID = 10388]

Carrect Answer :-

e 1 [Option ID = 10385]

The power which comes through connectedness of one's words matching one’s feelings, body
and facial expression in communication process 1s known as :

(1) Conformity (2) Congruence
(3) Collaboration (4) Control

g wfFd S Auwor < ulsea | Tl ok sl 3 sgeht st o e, s s weimet % g9gee o
ﬁaﬁﬁ,ﬁﬁﬁé“

(1)  wEHEgd (2) ST
(8)  HeAifEar (4) e

[Question ID = 2598][Question Description = Q20_GP_24NOV_S$1_SHAAN_Shift1]
1. 1 [Option ID = 1038%]
2. 2 [Option ID = 10390]
3. 3 [Option ID = 10391]
4. 4 [Option ID = 10392]

Carrect Answer :-
& 1 [Option ID = 10389]

The owner of a mobile phone charges his customer 25% more than the cost price. If a
customer paid 8,000/- for a mobile phone, then what was the cost price of the mobile?

(1) Rs. 5600 (2) Rs. 6000
(3) Rs. 6400 (4) Rs. 7000

SIS FH @ UEF ¥ AV g 6 25% 9% a1 2 | SR Wies A wieEe %A % fa 8,000/-
TG T PTAE T, o HETE H AR e #9 O¢

(1) 5600/ ¥qU (2) 6000/ 79T
(3) 6400/ ¥ (4) 7000/ TTw

[Question ID = 2599][Question Description = Q21_GP_24NOV_S1_SHAAN_Shift1]
1. 1 [Option 1D = 10393]
2. 2 [Option ID = 10394]
3. 3 [Option ID = 10395]
4. 4 [Option ID = 10396]

Carrect Answer :-
& 1 [Option ID = 10393]

) In the letter series
What i1s the next letter?
(L L 2y Z
3 P 4 X

2 T T Tt o



www.prepp.in

prepp

Your Personal Exams Guide

F = L‘., AWy A o dkdd Fhkada TTT O FETTY OTH T TREN ARG

O L @ Z
@ P @ X

[Question ID = 2600][Question Description = Q22_GP_24NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 103%7]
2. 2 [Option ID = 10398]
3. 3 [Option ID = 10399]
4. 4 [Option ID = 10400]

Carrect Answer :-
& 1 [Opticn ID = 10397]

18)  Given the relationshap between variables Y and X : Y = XZ; if X changes by 6%, What 1s the
percentage change 1n Y?
(1) ~ 36% 2y ~12%
(3) ~ 8% 4 ~6%

Y Xsdimmgay Y=X2 % &7 d 2| 3R X °d 6% = qfiada 71, af Y § glawd (%) giEad o0

Tm?
(1) ~ 36% 2y ~12%
(3) ~ 8% 4 ~6%

[Question ID = 2601][Question Description = Q23_GP_24NOV_51_SHAAN_Shift1]
1. 1 [Option ID = 10401]

2. 2 [Option ID = 10402]

3. 3 [Option ID = 10403]

4. 4 [Option ID = 10404]

Correct Answer ;-

e 1 [Option ID = 10401]

19) A man travels in a car from point A to point B and covers a distance of 120 km. During the

first 40 km, the speed of his car 1s 50 knvhr and for the rest of journey the speed of his car 1s
60 km/hr. What is the average speed of his car from point A to point B?

(1) 55 km/hr (Z) 54.25 km/hr
(3) 56.25 km/hr (4) 58.25 kw/hr

o offaa fiig A ¥ fig B % sftg 120 feeiifiey i gt 1 @ 93 a1 21 o1 usa 40 Preiier % 3@

swht R H 7fa 50 frardier gig e of o = g6 % fery 60 fretediet vz, &t g A ¢ g B o=
FTEhT T Y T T T i

(1) 55 feh. . /a1 (2) 54.25 . Hi. /a1
3) 56.25 f. 4. /e (4) 58.25 f. Y./

[Question ID = 2602][Question Description = Q24_GP_24N0OV_51_SHAAN_Shift1]
1. 1 [Optien ID = 10405]

2. 2 [Option ID = 10406]

3. 3 [Option ID = 10407]

4. 4 [Option ID = 10408]

Correct Answer ;-

e 1 [Option ID = 10405]

20) In the series
1.8:6: 310, onviins
What 1s the next term?
(H 12 @ 15
3 18 @ 20
1,3.6, 10, ......... % F9 T T o7F 2
1 12 2 15

3 18 (4 20
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[Question ID = 2603][Question Description = Q25_GP_24NOV_S$1_SHAAN_Shift1]
1. 1 [Option ID = 10409]
2. 2 [Option ID = 10410]
3. 3 [Option ID = 10411]

4. 4 [Option ID = 10412]

Correct Answer :-

& 1 [Option ID = 10409]

Which of the following options are true regarding inference with reference to classical Indian
system of logic?

A)
B)
(©)
D)

It is deductive
It is inductive

It has to be formally vahd

It has to be materially true

Choose the correct answer from the options given below :

€Y
3

(A). (B) and (D) only @) (&), (B) and (C) only
(A). (C) and (D) only (4 (&), (B), (C) and (D) only

T I F 9 sl g % SHER SEE B gy o fefafa fepedi § @ wR e 27

@) TR T 2
B  TE ATTERE T |
(C) 7 ig=nick =9 A 89 T AIRY |
D) 7 TIRT BT Y T E AT

5 fiu e foem § o TE SOt @ 99 i

(D ¥ Q). (B) 3R (D) (2) I (A), (B) 3R (C)

(3w (A), (C) ¥R (D) @ (A, (B). (C) 3R (D)

[Question ID = 2604][Question Description = Q26_GP_24NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 10413]
2. 2 [Option ID = 10414]
3. 3 [Option ID = 10415]
4, 4 [Option ID = 10416]

Correct Answer :-
« 1 [Option ID = 10413]

22)

)
B)
©)
D)

The collection of all the objects to which a term may correctly be apphed 1s called :

The intension of that term
Connotation of that term
The extension of that term
Denotation of that term

Choose the correct answer from the options given below :

ey
(3

(A) and (B) only (2) (B) and (C) only
(A) and (D) only 4y (C) and (D) only

=7 9l asgsn 1 G faes fou v w2 # @l =9 4 v R o g 2, e B
(A) 3T g w1

prepp
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(G IHug=H
(D) 39 92 I FrATY

H= o 7u fFedt 4 o ¥ s W 9= Ff -
(1) ad (A) I (B) 2) Faa (B) I (C)
(8)  FaA (A) (D) (@ I (C) 3R (D)

[Question ID = 2605][Question Description = Q27_GP_24NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 10417]
2. 2 [Option ID = 10418]
3. 3 [Option ID = 10419]
4. 4 [Option ID = 10420]

Carrect Answer :-
& 1 [Option ID = 10417]

“The Daily News carried an article this morning about some local teenagers who were
arrested on charges of drug possession. Teenagers these days are nothing but a bunch of
junkies”.

Which fallacy 1s committed in the above statement?

(1) Red Herring

(2) birawman

(3) Argument against the person (ad hominem)

(4) Hasty Generalization

‘e wHER A A gER UF od e Pl g v Pead i aes Teii| 13l w6 ot % s |
firwar fn 0 o1 | sTeee % PR oit Fo o afew 3 % W F 1 swlwa BA A F9 @ Fearaw 27

(1) T3 Ef
2 wiN

(3 = =+ favg @b (Vg BifEa)
(4) ity TR
[Question ID = 2606][Question Description = Q28_GP_24NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 10421]
2. 2 [Option ID = 10422
3. 3 [Option ID = 10423]
4. 4 [Optien ID = 10424

Given below are two statements : One 1s labelled as Assertion (A) and the other is labelled as
Reason (R) :

Assertion (A): The Nalyayikas did not give separate treatment of the inductive methods,

as the western logicians have done.

Reasons (R) : According to Nyava school universal propostions are obtained from

perception itself by one of the forms of extra-ordinary perception.

In the light of the above statements, choose the correct answer from the options given below :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (A)
3) (A) is true but (R) is false

) (A) is false but (R) is true
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= 5w fou mu 2 v iR (Assertion A) % ¥ W fafiga 2 A1 g0 IuH RO (Reason R) %

_‘Eqﬁ

ST (A) Tl 4 STFTHATCHE JUTSR 1 YR WGl Tel & 3 S 6 weeed o wnter J
T 3 |

=+ (R) : = T PR GEE gfogiteat s gersfiteon § 9 uh gerefer g o
7o i ST 2

FTH B2 % e 8, A9 e 0 oot § § #E I A == i

(1)
@
3
(4)

(A) 3T (R) ZF1 9ea 2 1R (R), (A) F1 T2 =ame 2|
(A) 2R R) FF1 o £ S ), (A) i Té sarem 7@ 2
(A) T 2 afe (R) 2159T & |

(A) 2187 2 Al (R) T3 21

[Question ID = 2607 ][Question Description = Q29_GP_24N0V_S51_SHAAN_Shift1]
1. 1 [Option ID = 10425]
2. 2 [Option ID = 10426]
3. 3 [Option ID = 10427]
4, 4 [Option ID = 10428]

Correct Answer ;-
e 1 [Option ID = 10425]

Given below are two statements :

Statement I: Sesavata is the inference of what remains (sesa) by ehmination of the
irrelevant.

Statement II: Sesavata inference corresponds to the method of residues in western
induective logic.

In the light of the above statements, choose the most appropriate answer from the options
given below :

(1) Both Statement I and Statement II are true

(2) Both Statement I and Statement II are false

(3) Statement I is true but Statement IT is false

(4) Statement I 1s false but Statement II is true

fRgamfem? .

o (I):  T9ed, AYERER T e d 9 SEan § SueT 3EaE ¢ |

o (ID) :  Fad ATHE T SAPTHATCHS b2 § S1awy Rl qorell ¥ ie @ # |

ITIE FYF F o |, 9 3 e et § § wE s oW 9 e

(1)
2
3
(4)

TR IR O o 2 |
o I 3R IL 31 o193 & |

HuF I Aex 2, fed %99 I 3197 2 |

T I o1 2, dfd Fua IO 2|
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[Question ID = 2608][Question Description = Q30_GP_24NOV_51_SHAAN_Shift1]
1. 1 [Option ID = 10429]
2. 2 [Option ID = 10430]
3. 3 [Option ID = 10431]
4, 4 [Option ID = 10432]

Correct Answer :-
a 1 [Option ID = 1042%]

26
) When a computer 1s switched on, the BIOS is loaded from :
(1) Hard Ihsk (Z) RAM
(3) ROM (49 CD-ROM

1 Forell o 1 fr it e e 2 A BIOS Freferfiaa # & et s fiem o 27

1) = ise @ W
3 W @) -

[Question ID = 2609][Question Description = Q31_GP_24N0V_51_SHAAN_Shift1]
1. 1 [Option ID = 10433]

2. 2 [Option ID = 10434]

3. 3 [Option ID = 10435]

4, 4 [Option ID = 10436]

Correct Answer :-

a 1 [Option ID = 10433]

27 : i o
) Identify the correct order of the following computer storage capacities ranked from largest to

smallest capacity.

(A) 100 GBytes

(B) 10 000 000 000 Bytes
(C) 1 TBytes

(D) 1000 000 KBytes

Choose the correct answer from the options given below :
O  ©).&. D). B 2) (O, A). B). D)

3 A).©.D.® @ (A).(0).®B). D
FrefoTiiga Feet TS AuaeT F GoE Al W Ued FE GHal = @el wE A fated it |
(A 100 fFm smEe
@) 10 000 000 000 =752
(© 1mamR

(D) 1000 000 frer =mse

3 fau o fomrem § o TE SOR W 99 it
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@O ©)@A). D). (B 2y (©). @A), ®B). D)
@ A ©). D), > @ @A). O, ®B). D)

[Question ID = 2610][Question Description = Q32_GP_24N0V_51_SHAAN_Shift1]
1. 1 [Option ID = 10437]
2. 2 [Option ID = 10438]
3. 3 [Option ID = 10439]
4, 4 [Option ID = 10440]

Correct Answer :-
e 1 [Option ID = 10437]

Given below are two statements:

Statement I: Search Engines are websites that help a user to search for information on

WWW.

Statement II : For any search term, Search Engines provide the exact same results to all

the users.

In the light of the above statements, choose the corrrect answer from the options given

below:
(1) Both Statement I and Statement II are true

(2) Both Statement I and Statement IT are false
(3) Statement I is true but Statement II 1s false

(4) Statement I 1s false but Statement II 1s true
FoF (D) : T SO JeEIse 2 A yEaar B WWW TR TR O 0 0w B
Ho (ID) : Tl ==l 29 o foru, @t dom ool wiwasTt 1 feresper wnaa aftonm 36 2
IYTH FYF H T T, A= 19U T faeedi 0 | Rl I o 99 s
(1) = L3R 1L 31 929 % |

(2) w9 IR II 2 o1eeT 2

(8) w1 &cA 2, ©ifeT By 11 o757 2|

(4) YA I 3EA B, A e [I 53 B |

[Question ID = 2611][Question Description = Q33_GP_24NOV_51_SHAAN_Shift1]
1. 1 [Option ID = 10441]
2. 2 [Option ID = 10442]
3. 3 [Option ID = 10443]
4. 4 [Option ID = 10444]

Carrect Answer :-
& 1 [Option ID = 10441]
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29)

(A) Magnetic Tape
(B) Hard Disk
(C)  Pen Drive

(D) CDROM

With respect to computers, which of the following are random access storage devices?

Choose the correct answer from the options given below :

(1) (A, (B)and (C) only

3 (B, (C)and (D) only

@)

(4)

(A). (C), and (D) only

(A). (B) and (D) only

FIOIR % "eg ¥ Feiafiga § @ w-4 Ten vy @i feana 21

(A) HEfRs 2y

B = T

€ g

O HHemaaum

= 3 o el § © TR ST T 9 i

(1) =ad (A), (B) 3 (C)

(8)  haw (B), (C) 3 (D)

(2) A (A). (C) 2R (D)

@) e (A), (B) 3R (D)

[Question ID = 2612][Question Description = Q34_GP_24NOV_51_SHAAN_Shift1]

1. 1 [Option ID = 10445]
2. 2 [Option ID = 10446]
3, 3 [Option ID = 10447]
4, 4 [Option ID = 10448)

Correct Answer :-
a 1 [Option ID = 10445]

prepp
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Match List I with Last I1
List I
Computer Terms
(A) Magnetic Tape
(B) Memory Card

(C) Hard Disk

(D) DVD

C

List IT
Description
Used 1n digital cameras photo printers
and cell phones

Uses laser beam technology to read or
write data

Used for data archival purposes but
must be accessed sequentially

(IV) A set of metal disks mounted on a

spindle
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Choose the correct answer from the options given below :

1)  A-am, B)-O. (6)-1V), (D)-dD)
2  @-IV). B-0. (O-dI). (D)-AD
3 @A), B-av). (O-O. M)-dD
49 (A)-ID. B)-1D, (C)-@), D)-(IV)

Hﬁ-l%mﬁrqﬁl-ﬂﬂﬂﬁmzﬁrﬁ:
-1

(A) BRREE 2T

B = FE

) =6 e

D) fovma 319

I 733 U fme A O T SR oW 9 iR -

1)  A-AID. B-@). (O-1V). (D)-AD
@  &-I@V), B-O, (O)-1ID). (D)-ID
3  Q-AID. B)-AV). (C-D. (D)-AD
@  A-dD, B)-(ID), (O)-O, (D)-aAV)

T 1L
e
@O fesfiea Swmr, w9 o= o Ow w9 A
S B 2 |
D) T W TG A OEH F fow TSR a@m
SHTATS T A T 2
(1) S@1 AFHEae WeE 7g W99 B B 0
T STETTH ®T U FAFER TEE e S
=Tiae |

[Question ID = 2613][Question Description = Q35_GP_24NOVY_S1_SHAAN_Shift1]

. 1 [Option ID = 10449]
2 [Option ID = 10450]
3 [Option ID = 10451]
4 [Option ID = 10452

N U PP . g

Correct Answer :-
e 1 [Opticn ID = 10449]
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What will be the resultant of two noise levels of 81 dB and 90 dB generated by two

independent sources?
(1) ~96dB
(3) ~98dB

@2 ~91dB
4 ~118dB

T wIoA Al ¥ ghoa 81 SHieet 9Tk 90 SHiES % A T W1 GROmH F41 &0T 7

1) ~96dB
(3 ~98dB

2 ~91dB
4 ~118dB

[Question ID = 2614][Question Description = Q36_GP_24NOV_51_SHAAN_Shift1]

1, 1 [Option ID = 10453]
2. 2 [Option ID = 10454]
3. 3 [Option ID = 10455]
4. 4 [Option ID = 10456]

Carrect Answer :-
# 1 [Option ID = 10453]

Match List I with List II

TastI
(A) Kyoto Protocol

List 11
(I) Clean and Affordable Energy
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(B)
©)
@)

pp.in

Montreal Protocol
Paris Agreement
International Solar Alliance

(11) Clean Development Mechamsm
(III) Nationally Determined Contribution
(IV) Phase out of chlorinated compounds

Choose the correct answer from the options given below :

(L
(2)
3
(4)

(A)-AD, (B)-(IV), (O)-dID. D)-D
A)-D). B)-(1D), (C)-AV). (D)-(1D)
(A)-(ID), (B)-IV), (C)-(), (D)-AID)
(A)-(1ID, B)-AV), (O)-@). D)-(ID

-1 % Ty G-I =7 e hif

-

-1

R N

(A) T AR D

B oifeaa g
(C) ufw gasia
(D) FFaigE Uk T

=i 88 T Toepeat & @ Ul 3o = == iy

1) @-AD. B)-IV), (O-AD, M)-O
@  @A)-@, B)-dID. (C)-1V), (D)-AD
3  A-AD, B)-1IV), (O)-O), (D)-(1ID)
@  @-D. B-IV). (CO-@. (D)-AD

TE-11

ToT 3R w1 T

dD ==z fFEm T
AID udiz =0 9 T dmem
(IV)

FATFT AIRTRT <Rl =g g

[Question ID = 2615][Question Description = Q37_GP_24NOV_51_SHAAN_Shift1]

N N PR o Y

1 [Option ID = 10457]
2 [Option ID = 10458]
3 [Option ID = 10459]
4 [Option ID = 10460

Correct Answer :-
e 1 [Option ID = 10457]

Given

Statement I :

below are two statements:

House Effect.

Solar flat plat collectors essentially work on the principle of Green

Statement II : Black absorber plat radiates infrared radiations.

In the light of the above statements, choose the corrrect answer from fthe options given

below:
(1) Both Statement I and Statement I1 are true
(2) Both Statement I and Statement II are false
(3) Statement I 15 true but Statement II 1s false
(4) Statement I is false but Statement II 1s true
= T T '%Q T -
F (D :  ER G9a Wi TIEs UFERE T9E % U W 3 e w0 3 )

o1 JTTh -

=T T T T T e e 2
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I FH T 0, A9 5 v fawmeat 7 U 9dl ST F 9 i

(1) w2a I3k [IeA gea 2 |
(2)  wuE I [IgH TTod § |
(3)  wuH I Gca 2, witeht = II saer 2|

(4)  wA I 39cg 2, <leee =em Lo 2 |

[Question ID = 2616][Question Description = Q38_GP_24NOV_51_SHAAN_Shift1]
1. 1 [Option ID = 10461]
2. 2 [Option ID = 10462]
3. 3 [Option ID = 10463]
4. 4 [Option ID = 10464)

Carrect Answer :-
& 1 [Option ID = 10461]

Identify the correct sequence in decreasing order of percentage of total world’'s water in the
following locations ;

(A) Atmosphere

(B) Rivers and streams
(C) Ground water

(D) Lakes (Fresh water)

(E)  Ice caps and Glaciers

Choose the correct answer from the options given below :
1 (E)LQO).B).D).A 2 (E), (B), (C). D), (A)
3 (E), D), ©), ®B),. A 4 (E), ©), D), &), (B)

Tava & To /e Wi = Friea T Y g O orEtE e 4 ity fikw

(A)  agEsE
(B) T IR e
€ g«

(D)  sfier (arm o)
® i ok fimme

= i 7o foerewt § © TE IR W 99 it

@ E).©). B, D.A) @ (E).B).©C). D). &)
@ E.OO0.B6.W @ E.C).D).W.®

[Question ID = 2617][Question Description = Q39_GP_24N0V_S51_SHAAN_Shift1]
1. 1 [Optien ID = 10465]
2. 2 [Option ID = 10466]
3. 3 [Option ID = 10467]
4. 4 [Option ID = 10468]
Correct Answer ;-
e 1 [Option ID = 10465]
35)

P thae wvaar WA SQnoctasinashla Navalanmoent Raal 7 aime at anhanesine tha olahal vata oF
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inaprhve;neﬁt in eﬁergy eﬁicienby by a factor of
(L Two (2) Three
(3) Four (4) Five

a9 2030 T, QU g @517 %1 S2va Setegar h Afvas w9 e o 6 afy wen

@B = (2 =
(3) =R (4) Ui]

[Question ID = 2618][Question Description = Q40_GP_24NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 10469]

2. 2 [Option ID = 10470]

3. 3 [Option ID = 10471]

4. 4 [Option ID = 10472

Correct Answer ;-
& 1 [Opticn ID = 10469]

According to NEP-20 the primary activities of the NRF will be to
(A)  Fund competitive peer reviewed grant proposals of all types across all disciplines.
(B)  Open new institutions of research and innovation.

(C)  Act as a liason between researchers and relevant branches of government as well as

industry.

(D)  Include research in curriculum at school level.

Choose the most appropriate answer from the options given below :
(1) (A and (B) only (2) (A) and (C) only
(3)  (B)and (C)only (4) (C) and (D) only
g foran Hfd-20 F STTUR w0 TE. i WU AaiaiEl gel -
Q) ufmErt safts go e sopr-wi F weE ® S wd TR % Bt @ gag 89, G
TR YEH |
(B) Y 3R TR % A HEAFT H TG T |
(C)  wumaiel IR Tog TR YUPT 7 I2 % o/ gl & &9 | = |

(D) TFH T W IZHHA | AT B WA B |

e faw T ferpeut ¥ W wer IvH I A A HIfAT -
() 9@ (A) 3R (B) (2) Fa= (A) ¥R (C)

(3) =& (B) 3R (C) @ Fa (C) 3 (D)

[Question ID = 2619][Question Description = Q41_GP_24NOV_51_SHAAN_Shift1]
1. 1 [Option ID = 10473]
2. 2 [Option ID = 10474]

| 3. 3 [Option ID = 10475]

prepp
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Carrect Answer :-
& 1 [Option ID = 10473]

Identify from the following those values which are called “Sattvika Values”
(A) Compassion

(B) Jealousy

(C) Respect

(D} Falsehood

Choose the most appropriate answer from the options given below :
(1) (A) and (B) only (2) (B)and (C) only

(3) (C) and (D) only (4) (A) and (C) only

Frfatea 3 9 53 geat =i Team i G wfes 1em, w3

(A  HET
®) =
(C) A

D) =

== fou o forpewl O ® TeE SUgHa ST B =E HI

(1) =3 (A) R (B) 2 A (B) 311 (C)
(3) %A (C) 3 (D) @) Fad (A) S (C)

[Question ID = 2620][Question Description = Q42_GP_24NOVY_S1_SHAAN_Shift1]
1. 1 [Option ID = 10477]
2. 2 [Option ID = 10478]
3. 3 [Option ID = 10479
4. 4 [Option ID = 10480]

Carrect Answer :-
& 1 [Option ID = 10477]

38 According to NEP-20 Secondary Education Comprises of classes
(1) VIII-X 2 X-XII
8 IX-X @) IX-XI

7% Fra Hifa 5 swmw areafes fen § feflea e e 2 -

(1) VII-X 2 X-XI
@ X-X @ IX-XI

[Question ID = 2621][Question Description = Q43_GP_24NOV_51_SHAAN_Shift1]
1. 1 [Option ID = 10481]

2. 2 [Option ID = 10482]

3. 3 [Option ID = 10483]

4. 4 [Option ID = 10484]

Carrect Answer :-

e 1 [Option ID = 10481]

39)

Praltmt lanomiacezs have cimilamtiee and differencree wmth Sancelkmt in manvy wave
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. —r ar ar -

Prakrit languages when formalized for literary use their variation from conventional vedic

languages was
(1) Pali (2) Ardhamagadh
(3) Apabhramsha (4 Hindi

A T T BERd $ WY 9gd W T W WA R et 2| aeRa v o e = S o
gFag i T2 79 o TRuieE dfem awm w seeh fima o, 9 o -

(1 (2) gl
8 sy @ ==

[Question ID = 2622][Question Description = Q44_GP_24N0V_51_SHAAN_Shift1]
1. 1 [Option ID = 10485]
2. 2 [Option ID = 10486]
3. 3 [Option ID = 10487]
4, 4 [Option ID = 10488]

Correct Answer :-
a 1 [Option ID = 10485]

40} As a result of Wood's Despatch, which of the following Universities were established in 18577
(1) Calcutta, Bombay and Madras
(2) Bombay, Madras and Delhi
(3) Delhi, Bombay and Calcutta
(4) Madras, Calcutta and Delhi
T2 % AT % Tienreaey, Getatga § @ B g fyataes i wren @ 1857 9 580

(1) e, 55 IR 559
(2)  wwE, mgw ot fEeedi

(@) T, sree I e

(4) g, werwa i e

[Question ID = 2623][Question Description = Q45_GP_24N0V_S51_SHAAN_Shift1]
1. 1 [Option ID = 10489]
2. 2 [Option ID = 10490]
3. 3 [Option ID = 10491]
4, 4 [Option ID = 10492]

Correct Answer :-
a 1 [Option ID = 1048%]

Topic:- 03rd_Set7_C

1
) Read the passage carefully and answer the question that follow
The need for continuing and reinforcing value oriented curriculum at the post graduate level
and level of professional studies may be considered even more important. Most of the
students trained at these levels are likely to become leaders of business and industry,
technocrats, leaders of thought, teachers and educationmists, research workers, professionals,

political leaders and social workers etc. besides playing thelr normal roles as citizens and
Familvy meamhare lilce all ather nernle Tt anneare that mnst af theam at the time nf leavine the
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college after 3-6 years of study, may have a poor 1dea of the values of freedon and human
dignity. the value of food, security and health care for millions of poor and disadvantaged
people, the 1mportance of correct public policies for managing societies and solving several
problems, the importance of proper human relations and personal life styles, etc. A good
number of them, however are now getting opportunities to acquire modern scientific and
technical knowledge of high standards particularly in some of our institutions of excellence,
comparable to the best institutions in the developed countries. But the problem of
inadequate access to this kind of modern knowledge for the poor and disadvantaged groups
1n our soclety constitutes a serious social and moral i1ssue.

Curricular reform and reconstruction on proper lines should be the active concern of
educationists and educational planners, because as pointed out in national policy document
1986, it can be a forceful tool for the cultivation of social and moral values. In our culturally
plural societies education should foster universal and eternal values, oriented towards the
unity and integration of our people. Such value education should eliminate obscurantism
religious fanaticism, violence superstition and fatalism.

In higher education, in the context of promoting strong value orientation, which of the
following statement holds true?

(1) Provide opportunities to students to acquire scientific knowledge of high standards.
(Z) A Policy for development of values may be prepared.

(3) Offer courses related to inter disciplinary contemporary soclo-economic problems.
(4) The universities should aim to enrich technological dimensions.

T Y SIEE 9¢ AR T T Sl % S S

TR ST FHa 1599 F TR W Rl S TRiciihd Jod ST e MSsd =i STaeashal =i 3T
o} srters aEergol wEn ST ST B | 59 W W gt 9 e sifaeg: fernelf samw we savn & s,
WA T YT e w5 SR g well ST B wee aReR % wee 2 g, S B 8| U
Tt 2 5 =8 o sAitat 3 9 6 991 & oYEEd % SU=d HeileEed UNeAT % 999 el il 99
I % Yod, Argl Wiel iR glasmatad A % uieE, g o) TR @y 1 ged, T9e TaeE S
AT P R g TEt AP ATl = Hetd ad1 SUged Hed Beeg 3R st Sited Siell e
SeAlle, 1 o (dar T@d B @hd & | S0 O spHeTs (aepitd <ul 8 HasE el % dnaged fagien san
[T Icpd TEAH H I o SIH® A7 33 Teiih T U o =R GRIaER U1 1§ 2 | ik ZuR
o o Fdei ve glao-ataa oug F T 5@ TR W SNy T I B ST uge i aee
v i mmteE siv Afew e = gulza w2

TeFRT GUR T I st T § wtm, fenet v e -asm-Feiwen & o B o e
T =t s St 6 g A o 1986 ° we d1 skE fem W g 2 6 w wmts of AR
qedl % Hearda % o7 v wue U g FEaT 2 | TR Uieplas ®9 O age aarel § fer A R e

s=u1 e % g ueg wilimEieR % Wicutsd o YW o weed ¥ Fmfafes § o w9 w9 we €7

(1) o1 TR S qE-wa 3 R i ST Suesy T |

(2 Wl = o % foe o HAifa daw i s R 2 |

(8)  r=aferelt R WS- AT auenet § amieaa TaAEy B 9EH B |
@  Tovatrmem = T AW ® g T B ANEiE e e |

[Question ID = 2624][Question Description = Q46_GP_24NOV_51_SHAAN_Shift1]
1. 1 [Option ID = 10493]
2. 2 [Option ID = 10494]
3. 3 [Option ID = 10495]
4. 4 [Option ID = 10496)

Carrect Answer :-
* 1 [Option ID = 10493]

Read the passage carefully and answer the question that follow
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The need for continuing and reinforcing value oriented curriculum at the post graduate level
and level of professional studies may be considered even more important. Most of the
students trained at these levels are likely to become leaders of business and industry,
technocrats, leaders of thought, teachers and educationists, research workers, professionals,
political leaders and social workers etc. besides playing their normal roles as citizens and
family members like all other people. It appears that most of them at the time of leaving the
college after 3-6 years of study, may have a poor 1dea of the values of freedon and human
dignity. the value of food, security and health care for millions of poor and disadvantaged

people, the importance of correct public policies for managing societies and solving several
problems, the importance of proper human relations and personal life styles, etc. A good
number of them, however are now getting opportunities to acquire modern scientific and
technical knowledge of high standards particularly in some of our institutions of excellence,
comparable to the best institutions in the developed countries. But the problem of
inadequate access to this kind of modern knowledge for the poor and disadvantaged groups
1n our soclety constitutes a serious social and moral 1ssue.

Curricular reform and reconstruction on proper lines should be the active concern of
educationists and educational planners. because as pointed out in national policy document
1986, it can be a forceful tool for the cultivation of social and moral values. In our culturally
plural societies education should foster universal and eternal values, oriented towards the
unity and integration of our people. Such value education should eliminate obscurantism
religious fanaticism, violence superstition and fatalism.

The higher education system as of now emphasizes on

(1) Utilitarian values (2) Human values

(3) Social and Polhitical values (4) Spiritual values

TE YA U6 SR ST T Iyl % IS

TR ST FHa 1599 3 TR W PR ST TRiei i Jod 319 a0 MSasd =l STaeashal =i 3T
o} srters aEvqol FEn ST EEar B | 59 w0 W gty 9 e Atame: fernedf saw v savn & s,
AH T 0 F FEE R 30 o g Tl T % WEE TR % WeTE B Y, 8 OFRd B | U
Tdia 2 5% =0 o sftrat 3 9 6 aul % o1HEd % S HeileEed UNeAT % 99T Saedl Sk 99
g % Yo, Argl WiE AR gEsmEtad S o uieE, e o TR @Y 1 Ied, T9 TeREA S
AT P R g Tat AP ATl = Faed ad1 SUged Hed Beed 3R sataaa Sitad diell e
eI, BT g [oam @ B @hd 2 | ST O SEEeTh [eeeibd oml 8 HasE HeTl o guged Al B
QI Ieh GEAT U ITeRal o NG =g 39K dohelich T ITed =t =T G3Taat U1 18 2 | ifhd 2o
o FdAT ve glao-ataa oug % ™Y 5@ TR W Sy T W B ST uge g
v TR AmIeE st 3o Tme w1 utea HE

TeART GUR T I st T § wte, fentet v Ren-asm-Feiwen & whe B
ZM T IS S 5 wEE ifd ToE 1986 § Tee B 3R R 1 g 2 T 7 mwies ot Afw
gedl = Herdd % {10 U wIod SUH g Tl 2 | BAN WG ¥4 U age a8 f9e A gun e

ST s=u fen o B T IR SreE 27

(1)  SwEFEEE-Ie @) FFE-ge
(8)  TmIE vE SAES god (4) smentars gea

[Question ID = 2625][Question Description = Q47_GP_24NOV_51_SHAAN_Shift1]
1. 1 [Option ID = 104%7]

2. 2 [Option ID = 10498)

3. 3 [Option ID = 10499]

4, 4 [Option ID = 10500]

Correct Answer :-

» 1 [Option ID = 10497]

Read the passage carefully and answer the question that follow

Tha naad for reontinniine and meinfarmine valiie amantad rivvmenthim at thae nnet enadnata laval



www.prepp.in

wr

and level of professional studies may be considered even more important. Most of the
students trained at these levels are likely to become leaders of business and industry,
technocrats, leaders of thought, teachers and educationmists, research workers, professionals,
political leaders and social workers etc. besides playing their normal roles as citizens and
family members like all other people. It appears that most of them at the time of leaving the
college after 3-6 yvears of study, may have a poor 1dea of the values of freedon and human
dignity. the value of food, security and health care for millions of poor and disadvantaged
people, the 1mportance of correct public policies for managing societies and solving several
problems, the importance of proper human relations and personal life styles, etc. A good
number of them, however are now getting opportunities to acquire modern scientific and
technical knowledge of high standards particularly in some of our institutions of excellence,
comparable to the best institutions in the developed countries. But the problem of
mmadequate access to this kind of modern knowledge for the poor and disadvantaged groups
1n our soclety constitutes a serious social and moral 1ssue.

Curricular reform and reconstruction on proper lines should be the active concern of
educationists and educational planners, because as pointed out in national policy document
1986, it can be a forceful tool for the cultivation of social and moral values. In our culturally
plural societies education should foster universal and eternal values, oriented towards the
unity and integration of our people. Such value education should eliminate obscurantism
religious fanaticism, violence superstition and fatalism.

Value oriented curriculum at professional studies level 18 important

(1)
(2)
(3)
€Y

To propagate the values Further
To have a ghmpse of the issues of the poor and disadvantaged
To balance other pedagogy. related deficiencies

To train students as efficient resource agents

T Y SIEE 9¢ AR T T Wl % S S

TR ST THa 1599 3 TR W Rl ST TRiei i Jod o119 e MSasd i STTaeashal =i 3T
Y srters aEergol SET S ST B | 59 W W gt 9 e sifgse: fernelf samw ue savn & s,
T W 4w % Fag w30 o gt @t o % weH 9RER % 9ee B 5T, O O 3 | O
gdia 2 5% 98 o sitat 3 9 6 a6l & ofHEd % S HeileETed UNeAT % 99T Saedl Sk 99
A F Yo, Argl WiE AR gEsmEtad S o uieE, e o TR @Y 1 ged, T9 TeRE 3
AT H R g Tt AT ATl = HEv aUl SUge Aa Beeed 3R st St Sl 1 wae
TeAG 1 g=o fomm tad & @Fd 2| S0 O wgueTs faeitm <o O wEgs Sl + aagen faeien gan
QI Ieh GEAT U ITeRal o NG A 39K dohr1ich T T =i =T H3Taat U1 8 2 | ifhd 2o
T ¥ Tl v glaw-ataa oE & ™Y 5@ TR W Sy TF 9T A R S uge 6 e
v TR AmeE s 3o Tme w1 wutea e

TR GUR T I stEm T § wtm, fentet v e -asm-Feiwen & whe e o B
ZF1 =tET s S R g it Tere 1986 § Tee B 3kE e s g 2 5 9w wmiers oftt A
gedl = Herdd % {10 U wied SUH g Tl 2 | BAN WG ¥4 U age a8 9 A gan e

YR 3EAE TR I A ST TEAHE Hawgy &

(1) gl 1 3R Afes 1 v #E % o

2y AT o glaaataar $ aremed % o F oo

(3)  Then = ¥ wesifaa 37 S1quial 1 Gegfera A % ferg

(4) TRl = g A TS % B9 A GRiGd 7 % e

[Question ID = 2626][Question Description = Q48_GP_24N0OV_S51_SHAAN_Shift1]
1. 1 [Option ID = 10501]
2. 2 [Opticn ID = 10502]
3. 3 [Option ID = 10503]
4, 4 [Option ID = 10504]

Correct Answer :-
e 1 [Option ID = 10501]
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Read the passage carefully and answer the question that follow

The need for continuing and reinforcing value oriented curriculum at the post graduate level
and level of professional studies may be considered even more important. Most of the
students trained at these levels are likely to become leaders of business and industry,
technocrats, leaders of thought, teachers and educationists, research workers, professionals,
political leaders and social workers etc. besides playing their normal roles as citizens and
family members like all other people. It appears that most of them at the time of leaving the
college after 3-6 years of study, may have a poor 1dea of the values of freedon and human
dignity. the value of food, security and health care for millions of poor and disadvantaged
people, the importance of correct public policies for managing societies and solving several
problems, the importance of proper human relations and personal life styles, etc. A good
number of them, however are now getting opportunities to acquire modern scientific and
technical knowledge of high standards particularly in some of our institutions of excellence,
comparable to the best institutions in the developed countries. But the problem of
mmadequate access to this kind of modern knowledge for the poor and disadvantaged groups
In our soclety constitutes a serious social and moral i1ssue.

Curricular reform and reconstruction on proper lines should be the active concern of
educationists and educational planners. because as pointed out in national policy document
1986, it can be a forceful tool for the cultivation of social and moral values. In our culturally
plural societies education should foster universal and eternal values, oriented towards the
unity and integration of our people. Such value education should eliminate obscurantism
religious fanaticism. violence superstition and fatalism.

The most suitable Caption for the passage may be :

(1) Enforcing values 1n education

(2) Importance of values

(3) Value implementation

(4) Value basis for tertiary education and society

e Y S T S Ry T S e

TR ST FHa 1599 3 TR W PRl ST TRieiihd Jod ST MSTsd i STaeashal =i 371
o} srters aEergol wngn o7 ST B | 59 w9 W gty 9 e sifuse: fernelf samw we e & s,
HAE WA T 1 Faes w39 ot g Tft ST % WM 9RER UG B gY, S WEd § | U
Udtd 2 T 398 o sAitrehat 3 ® 6 a1 *h EAEH = SURd Hellg=iad GHcAnl % HHT Sdeadl H 59
A % Yod, gl Wiel iR giasmatad A o aieE, g o) TR {@aR # ged, T9 TeRE S
AT P R g Tat AP ATl = Feed ag1 UG Hed Geed 3R st Sitee diell # e
TeAtG 1 geo foan t@d & @Fd €| S0 O sguers faeitm <o wage gl + aagen faeien san
[T Iepd TEAH H I o IMAE A7 33 qHiih T U e =R GRIaEE U1 T 2 | ik ZER
g o AT ve glao-ataa augl F ™Y 5@ TR W SNy T T B il ST uge i aee
um TR A s 3o Tme w1 wutea e

TeART GUR T I stEa T § wte, fentet v e -asm-Feiwen & o B e e
=N =tET. s St R e fifa Tee 1986 @ TEw # 3tE fem o g 2 T ar o ofit AR
qedl % Heardd % o7y ush wuem Iu B wEaT 3 | 9K iEha &9 U age warel § T R g e

T % 7T, etugda I B g &
(1) e o geat = gRfcaa B
(2 T W Hew

(3) W W wEEE

(4  JEE e v T B ged SR

[Question ID = 2627][Question Description = Q49_GP_24NOV_51_SHAAN_Shift1]
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1 [Option ID = 10505]
2 [Option ID = 10506]
3 [Option ID = 10507]
ol [Optmn ID = 1{}593]

Correct Answer :
e 1 [Opticn ID = 10505]

Read the passage carefully and answer the question that follow

The need for continuing and reinforcing value oriented curriculum at the post graduate level
and level of professional studies may be considered even more important. Most of the
students trained at these levels are likely to become leaders of business and industry,
technocrats, leaders of thought, teachers and educationists, research workers, professionals,
political leaders and social workers etc. besides playing their normal roles as citizens and
family members like all other people. It appears that most of them at the time of leaving the
college after 3-6 years of study, may have a poor 1dea of the values of freedon and human
dignity. the value of food, security and health care for millions of poor and disadvantaged
people, the importance of correct public policies for managing societies and solving several
problems, the importance of proper human relations and personal life styles, etc. A good
number of them, however are now getting opportunities to acquire modern scientific and
technical knowledge of high standards particularly in some of our institutions of excellence,
comparable to the best institutions in the developed countries. But the problem of
mmadequate access to this kind of modern knowledge for the poor and disadvantaged groups
In our soclety constitutes a serious social and moral i1ssue.

Curricular reform and reconstruction on proper lines should be the active concern of
educationists and educational planners. because as pointed out in national policy document
1986, it can be a forceful tool for the cultivation of social and moral values. In our culturally
plural societies education should foster universal and eternal values, oriented towards the
unity and integration of our people. Such value education should eliminate obscurantism
religious fanaticism. violence superstition and fatalism.

In order to cultivate values, the higher education system should concentrate on

(1) Plugging pedagogical deficiencies

(2) Integrating technology

(3) Integrating technology with pedagogy
(4) Curricular reforms
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1. 1 [Option ID = 10509]
2. 2 [Option ID = 10510]
3. 3 [Option ID = 10511]
4. 4 [Option ID = 10512

Correct Answer :-

e 1 [Option ID = 10509]




